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THEORY OF EQUATIONS

Solved Examples

1. The equation of lowest degree with rational coe�cients having a root

 is

A. 

B. 

C. 

D. 

Answer: 1

√3 + √2i

x4 − 2x2 + 25 = 0

x4 + 3x + 15 = 0

x5 + 5x + 50 = 0

x3 + 3x + 13 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8GQAkcWoIdIQ


Watch Video Solution

2. If  are the roots of  then  =

A. 1

B. 

C. 2

D. 

Answer: 2

Watch Video Solution

α, β, γ x3 + x2 + x + 1 = 0 α2 + β2 + γ2

−1

−2

3. The sum of the �fth powers of the roots of the equation

 is

A. 99

B. 

x4 − 7x2 + 4x − 3 = 0

−140

https://dl.doubtnut.com/l/_8GQAkcWoIdIQ
https://dl.doubtnut.com/l/_D7y8nvP93VQ4
https://dl.doubtnut.com/l/_seuzd59RTR8T


C. 

D. 140

Answer: 2

View Text Solution

−99

4. One roots of  lies between

A. 1,2

B. 

C. 4,4

D. 2, -4

Answer: 2

Watch Video Solution

x3 − 7x + 7 = 0

−4, − 3

https://dl.doubtnut.com/l/_seuzd59RTR8T
https://dl.doubtnut.com/l/_blzojbej3VRO


5. If  are the roots of  then the equation whose

roots  is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

α, β, γ x3 + 3x + 2 = 0

α(β + γ), β(γ + α), γ(α + β)

x3 + 6x2 + 9x + 4 = 0

x3 − 6x2 + 9x + 4 = 0

x3 + 6x2 − 9x + 4 = 0

x3 − 6x2 − 9x − 4 = 0

6. If  are the roots of the equation  then

the value of =

A. 120

B. 230

C. 260

α, β, γ x3 + 3x2 + 8x − 2 = 0

(4 + α2)(4 + β2)(4 + γ2)

https://dl.doubtnut.com/l/_amvst5O7rlVn
https://dl.doubtnut.com/l/_LTWs936cbWok


Exercise 1 A

D. 240

Answer: 3

View Text Solution

1. The quotient we get when we divide  with (x + 1) is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x3 − 3x2 − x + 3

x2 − 3x + 4

x2 + 3x + 4

x2 − 4x + 3

x2 + 4x + 3

https://dl.doubtnut.com/l/_LTWs936cbWok
https://dl.doubtnut.com/l/_ohAMWvrb5Lr6
https://dl.doubtnut.com/l/_8ftvutHi8dS9


2. The quotient we get when we divide  with

 is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x4 − 8x3 + 25x2 − 46x + 40

x2 − 6x + 8

x2 + 5x − 2

x2 + 5x + 2

x2 + 2x − 5

x2 − 2x + 5

3. The remainder when  is divided by x -

2 is

A. 10

B. 20

C. 30

2x5 − 3x4 + 5x3 − 7x2 + 3x − 4

https://dl.doubtnut.com/l/_8ftvutHi8dS9
https://dl.doubtnut.com/l/_vDEObTCYU37Y


D. 40

Answer: 3

Watch Video Solution

4. The remainder we get when we divide

 with  is

A. 33x + 4

B. 41x + 3

C. 41x + 44

D. 33x - 4

Answer: 2

Watch Video Solution

2x5 − 3x4 + 5x3 − 3x2 + 7x − 9 x2 − x − 3

https://dl.doubtnut.com/l/_vDEObTCYU37Y
https://dl.doubtnut.com/l/_MKiLOVBCNMlk


5. The value of k so that  is divisible by x + 2

is

A. 2

B. 

C. 4

D. 

Answer: 4

Watch Video Solution

3x4 + 4x3 + 2x2 + 10x + k

−2

−4

6. The value of b so that  is divisible by 

 is

A. 45

B. 48

C. 51

x4 − 3x3 + 5x2 − 33x + b

x2 − 5x + 6

https://dl.doubtnut.com/l/_GqnPa5ravXqV
https://dl.doubtnut.com/l/_iQKfqwZySZPu


D. 54

Answer: 4

Watch Video Solution

7. If f(x) =  is divisible by  then (a,b) =

A. (-9,-2)

B. (6,4)

C. (9,2)

D. (2,9)

Answer: 3

Watch Video Solution

2x4 − 13x2 + ax + b x2 − 3x + 2,

8. If f(x) =  then f(x -1) =2x4 + 5x3 − 7x2 − 4x + 3

https://dl.doubtnut.com/l/_iQKfqwZySZPu
https://dl.doubtnut.com/l/_7oH8vRZtVHBx
https://dl.doubtnut.com/l/_8V0rFCNfAWdZ


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

2x4 + 3x3 + 10x2 + 17x + 3

2x4 − 3x3 + 10x2 + 17x − 3

2x4 − 3x3 − 10x2 + 17x − 3

2x4 + 3x3 − 10x2 − 17x + 3

9. If f(x) =  then f(x + 3) =

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

x4 − 12x3 + 17x2 − 9x + 7

x4 − 37x2 − 123x + 110

x4 − 25x2 − 73x − 85

x4 − 13x3 − 12x2 − 15

x4 − 47x2 − 125x + 165

https://dl.doubtnut.com/l/_8V0rFCNfAWdZ
https://dl.doubtnut.com/l/_Sq3uah9OdgdA


10. The equation whose roots are 2, -3, 5 is

A. = 0

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x3 − 4x2 − 11x + 30

x2 + 2y2 − 11x + 3 = 0

2x3 − 3x2 − 21x + 60 = 0

2x3 + 5x2 − 21x + 6 = 0

11. The equation whose roots are - 2, 3  is

A. 

B. 

C. 

±√5

x3 − 4x2 + x + 6 = 0

x3 − x2 − 3x + 3 = 0

x3 − 4x2 − 8x + 8 = 0

https://dl.doubtnut.com/l/_Sq3uah9OdgdA
https://dl.doubtnut.com/l/_8fGYpZF7kEH9
https://dl.doubtnut.com/l/_a46eTGpa21s8


D. 

Answer: 3

Watch Video Solution

x3 − 2x2 + x − 2 = 0

12. The equation whose roots are 1, 2  3i is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

±

x3 − 4x2 + x + 6 = 0

x3 − x2 − 3x + 3 = 0

x3 − 4x2 − 8x + 8 = 0

x3 − 5x2 + 17x − 13 = 0

13. The equation whose roots are  is1 + √3, 1 − √3, 2, 5

https://dl.doubtnut.com/l/_a46eTGpa21s8
https://dl.doubtnut.com/l/_2n0DZKtHwF8P
https://dl.doubtnut.com/l/_h8A9BvjbxhFZ


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 − 9x3 + 22x2 − 6x − 20 = 0

x4 + 9x3 + 22x2 − 6x + 20 = 0

x4 − 9x3 − 22x2 + 6x − 20 = 0

x4 − 9x3 + 222 − 6x + 20 = 0

14. The equation whose roots are  is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

1 ± √2, 2 ± √3

x4 − 5x2 + 4 = 0

x4 − 9x3 + 27x2 − 33x + 14 = 0

x4 − 6x3 + 8x2 + 2x − 1 = 0

x4 − 6x3 + 4x2 + 5x − 117 = 0

https://dl.doubtnut.com/l/_h8A9BvjbxhFZ
https://dl.doubtnut.com/l/_eDjfXn6dZxUE


15. From the polynomial equation whose roots are 1+I,1-I,1+I,1-I

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 + 4 = 0

x4 − 4 = 0

x2 + 2 = 0

x2 − 2 = 0

16. The equation whose roots are 3i is

A. 

B. 

C. 

3 ± √2, 2 ±

x4 − 6x3 + 8x2 + 2x − 1 = 0

x4 − 9x3 + 27x2 − 33x + 14 = 0

x4 − 10x3 + 44x2 − 106x + 91 = 0

https://dl.doubtnut.com/l/_eDjfXn6dZxUE
https://dl.doubtnut.com/l/_HwmHuJRkYjZ6
https://dl.doubtnut.com/l/_VCVJhij3Nzdl


D. 

Answer: 3

Watch Video Solution

x4 − 6x3 + 4x2 + 54x − 117 = 0

17. The euqation whose roots are a + b, a - b , - a + b, -a -b is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

6x4 − 13x2 − 12x2 + 39x − 18 = 0

x4 − 2(a2 + b2)x2 + (a2 − b2)
2

= 0

x6 + 2x5 − 11x4 − 12x3 + 36x2 = 0

x6 − 5x5 − 8x4 + 40x3 + 16x2 − 80x = 0

18. The biquadratic equation having roots 4 , 2  is±√3 ± i

https://dl.doubtnut.com/l/_VCVJhij3Nzdl
https://dl.doubtnut.com/l/_jYCeMaJpuKEJ
https://dl.doubtnut.com/l/_P2s17kciFfK5


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 − 12x3 + 50x2 − 92x + 65 = 0

x4 + 12x3 + 50x2 − 92x + 65 = 0

x4 + 12x3 − 50x2 + 92x + 65 = 0

x4 − 12x3 − 50x2 + 92x + 65 = 0

19. The biquadratic equation having roots 2 + 3i, 1 +  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

i

x4 − 6x3 + 23x2 − 34x + 26 = 0

x4 − 7x3 + 18x2 − 22x + 12 = 0

x4 − 6x3 + 12x2 − 18x − 5 = 0

x4 − 4x3 + 8x2 − 8x + 4 = 0

https://dl.doubtnut.com/l/_P2s17kciFfK5
https://dl.doubtnut.com/l/_ToKmzZcdOnZv


20. The biquadratic equation with rational coe�cients having roots 2 +

, 3+ 4i is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

√3

x4 + 10x3 + 50x2 + 106x + 25 = 0

x4 + 10x3 − 50x2 − 106x + 25 = 0

x4 − 10x3 + 50x2 − 106x + 25 = 0

x4 − 103 − 50x2 + 106x − 25 = 0

21. The biquadratic equation, two of whose roots are 1 +  , 1 -  is

A. 

B. 

C. 

i √2

x4 − 4x3 + 5x2 − 2x − 2 = 0

x4 − 4x3 − 5x2 + 2x + 2 = 0

x4 + 4x3 − 5x2 + 2x − 2 = 0

https://dl.doubtnut.com/l/_ToKmzZcdOnZv
https://dl.doubtnut.com/l/_zSiKoDZcdb4R
https://dl.doubtnut.com/l/_5qCSZTpfKqq2


D. 

Answer: 1

Watch Video Solution

x4 + 4x3 + 5x2 − 2x + 2 = 0

22. The equation whose roots are , 0, 0, 2,2,-3,-3 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

6x4 − 13x2 − 12x2 + 39x − 18 = 0

x4 − 2(a2 + b2)x2 + (a2 − b2)
2

= 0

x6 + 2x5 − 11x4 − 12x3 + 36x2 = 0

x6 − 5x5 − 8x4 + 40x3 + 16x2 − 80x = 0

https://dl.doubtnut.com/l/_5qCSZTpfKqq2
https://dl.doubtnut.com/l/_tGORgN51Iyly


23. The equaiton of lowest degree with rational coe�cients having a

roots  is

A.  0

B. 

C. 

D. 

Answer: 2

Watch Video Solution

√3 + √2

x4 + 10x2 − 1 =

x4 − 10x2 + 1 = 0

x4 + 10x2 + 1 = 0

x4 − 10x2 − 1 = 0

24. The equation of lowest degree with rational coe�cients having a root -

 is

A. 

B. 

C. 

√2 − √2i

x4 + 2x2 + 25 = 0

x4 + 16 = 0

x4 − 8x2 + 36 = 0

https://dl.doubtnut.com/l/_bz0Z0h2CTv2f
https://dl.doubtnut.com/l/_fKlHSrZmRwnc


D. 

Answer: 2

Watch Video Solution

x8 − 16x6 + 88x4 + 19x2 + 144 = 0

25. The equation of lowest degree with rational coe�cients having a roots

 +  is

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

√2 + √3 i

x4 + 2x2 + 25 = 0

x4 + 16 = 0

x4 − 8x2 + 36 = 0

x8 − 16x6 + 88x4 + 19x2 + 144 = 0

https://dl.doubtnut.com/l/_fKlHSrZmRwnc
https://dl.doubtnut.com/l/_UKtHB2yUXQWZ


26. If (x) is a polynomal of degree n with rational coe�cients and 1 +

 and 5 are three roots of f(x) = 0 , then the least value of n is

A. 5

B. 4

C. 3

D. 6

Answer: 1

Watch Video Solution

2i, 2 − √3

27. If 1,2,3 and 4 are the roots of the eqaution

 then a + 2b + c =

A. 

B. 0

C. 10

x4 + ax3 + bx2 + cx + d = 0,

−25

https://dl.doubtnut.com/l/_VsrCXvczOMeU
https://dl.doubtnut.com/l/_JESL3TuG4c1w


D. 24

Answer: 3

Watch Video Solution

28. The roots of  are

A. 0,0,2

B. 0,1,2

C. 

D. 1, i

Answer: 3

Watch Video Solution

x3 + 2x2 − x − 2 = 0

−2, − 1, 1

±

29. The roots of  arex3 + x2 − 2x − 2 = 0

https://dl.doubtnut.com/l/_JESL3TuG4c1w
https://dl.doubtnut.com/l/_K9VQ8VFEHxhd
https://dl.doubtnut.com/l/_SbS6Lw9mfAGN


A. 

B. 0,1,2

C. 

D. i

Answer: 1

Watch Video Solution

−1, ± √2

−2, − 1, 1

1, ±

30. Thr roots of the equation  are

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x3 − 3x − 2 = 0

−1, − 1, 2

−1, 1, − 2

−1, 2, − 3

−1, − 1, − 2,

https://dl.doubtnut.com/l/_SbS6Lw9mfAGN
https://dl.doubtnut.com/l/_L4diCUwUavEh


31. The roots of  are

A. 0,0,  1

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x4 − 1 = 0

±

±1, ± i

±√2, ± i

±√2, ± √3

32. The roots of  are

A. i

B. 

C. 

x4 − 5x3 + 3x2 + 19x − 30 = 0

−2, 3, 3 ±

−2, 3, 2, ± i

−2, 3, 2 ± i

https://dl.doubtnut.com/l/_L4diCUwUavEh
https://dl.doubtnut.com/l/_tP8GA7AEHT1k
https://dl.doubtnut.com/l/_D5E7ptHt1yEW


D. 

Answer: 3

Watch Video Solution

−2, 3, 2 ± i

33. Given that 2 is a root of  , �nd the other

roots .

A. 5,1

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x3 − 6x2 + 3x + 10 = 0

−5, 1

5, − 1

−5, − 1

https://dl.doubtnut.com/l/_D5E7ptHt1yEW
https://dl.doubtnut.com/l/_0NVVesC0Z6pc


34. If 2 is a root of  then the roots are

A. 2,3, - 3

B. 2, - 2, 3

C. , 3, -3

D. 2, -2, -3

Answer: 4

Watch Video Solution

x3 + 3x2 − 4x + k = 0

−2

35. The roots of  one root being -1 +  are

A. , - 1 + , -1 - 

B. i, -1 - , -2 - 

C. , 1 - , -1 + 

D. , -1 + , 1 + 

x4 + 4x3 + 5x2 + 2x − 2 = 0 i

1 + i i √2, 1 + √2

−1 + i √2, − 1 + √2

−1, − i i √2, − 1 + √2

1 + i i √2, − 1 + √2

https://dl.doubtnut.com/l/_X5TYJWBp58Og
https://dl.doubtnut.com/l/_ip17CKhTFEfh


Answer: 2

Watch Video Solution

36. The roots of  one root being 2 +  are

A. , 

B. , 

C. , 

D. , ,1 - 2i

Answer: 1

Watch Video Solution

3x3 − 4x2 + x + 88 = 0, √7i

− , 2 + √7i
8

3
2 − √7i

2i, 2 + √7i 2 − √7i

−1, 1 + 2i 1 − 2i

−1, 1 + √2i 1 + √2i

37. The root of  one root being 2 +  are

A. , 

x3 − 6x2 + 7x + 2 = 0 √5

−8/3, 2 + √7i 2 − √7

https://dl.doubtnut.com/l/_ip17CKhTFEfh
https://dl.doubtnut.com/l/_DsTVH8yzneha
https://dl.doubtnut.com/l/_nnmLlUpETP6D


B. 

C. 

D. 

Answer: 2

Watch Video Solution

2, 2 + √5, 2 − √5

−1, 1 + 2, 1 − 2

−1 + √2, 1 + √2, 1 − 1

38. If  is a root of  then the

roots are

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

3 − √2 x4 − 8x3 + 21x2 − 26x + 14 = 0

1 ± √2, 1 ± i

−1 ± √2, − 1 ± i

3 ± √2, 1 ± i

−3 ± √2, − 1 ± i

https://dl.doubtnut.com/l/_nnmLlUpETP6D
https://dl.doubtnut.com/l/_tJlqcvdUPn2i


39. If 2, 3 are the roots of the equation  then

(p , q) =

A. (-5, - 30)

B. (-5, 30)

C. (5, -30)

D. (5, 30)

Answer: 2

Watch Video Solution

2x3 + px2 − 13x + q = 0,

40. If - 1 +  is a root of  then k =

A. 1

B. 

C. 2

i x4 + 4x3 + 5x2 + 2x + k = 0

−1

https://dl.doubtnut.com/l/_tJlqcvdUPn2i
https://dl.doubtnut.com/l/_bJACIU3MYw7b
https://dl.doubtnut.com/l/_TzT6NRYv9jTC


D. 

Answer: 4

Watch Video Solution

−2

41. If two roots of  are 1, 7 then the

roots are

A. 

B. 1,7,3,5

C. 3,-5,1,7,

D. 1,7,

Answer: 2

Watch Video Solution

x4 − 16x3 + 86x2 − 176x + 105 = 0

−11/2, 3/5, 1, 7

√2, √5

https://dl.doubtnut.com/l/_TzT6NRYv9jTC
https://dl.doubtnut.com/l/_4vl2vjLpBkmO


42. If one of the root  is purely

imaginary then the roots are

A. 1, -2, 4, - 8

B.  1, 2, 3

C. 2i,2,3

D. /2, - 1/3, 2 

Answer: 3

Watch Video Solution

x4 − 5x3 + 10x2 − 20x + 24 = 0

±

±

−3 ±√3

43. It two roots of  are equal then the roots are

A. 1/2, 1/2, -1/5

B. 

C. 

D. 

20x3 − 16x2 + x + 1 = 0

−1/2, 1/3, 1/5

1/2, 1/2, − 6

−2, 1/2, 3

https://dl.doubtnut.com/l/_yPMHmMFexl3Z
https://dl.doubtnut.com/l/_WIcd68jHDoSv


Answer: 1

Watch Video Solution

44. The roots of  , when there is a multiple root, are

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x3 − 3x2 + 4 = 0

1/2, 1, − 3

1/3, 1/3, 1

6, 4, − 1

2, 2, − 1

45. If  has a multiple roots of order 3 then

the roots are

x4 − 5x3 + 9x2 − 7x + 2 = 0

https://dl.doubtnut.com/l/_WIcd68jHDoSv
https://dl.doubtnut.com/l/_VcicV3ukd34R
https://dl.doubtnut.com/l/_T8KJheAAbf5r


A. 1,1,1,2

B. 1,2,2,2

C. -1,-1,2

D. 1, -2, -2, -2,

Answer: 1

Watch Video Solution

−1,

46. Find the repeated roots of 

A. 1,2

B. 

C. 2, 3

D. 

Answer: 1

Watch Video Solution

x5 − 3x4 − 5x3 + 27x2 − 32x + 12 = 0

−1, 2

−2, 3

https://dl.doubtnut.com/l/_T8KJheAAbf5r
https://dl.doubtnut.com/l/_F0Vng4ahE7SL


47. The multiple roots of  = 0 are

A. 1, 2

B.  2

C. 2, 3

D. 

Answer: 4

Watch Video Solution

x4 − 2x3 − 11x2 + 12x + 36

−1,

−2, 3

48. If the roots of  are then

the value of  are

A. 2, 1

B. 

C. 

x4 − 6x3 + 13x2 − 12x + 4 = 0 α, α, β, β

α, β

−2, − 1

3, 1

https://dl.doubtnut.com/l/_F0Vng4ahE7SL
https://dl.doubtnut.com/l/_OiGe9HVjERiy
https://dl.doubtnut.com/l/_A4YPt50PGO16


D.  -1

Answer: 1

Watch Video Solution

−3,

49. If  has a pair of equal roots then the

roots are

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x4 + 4x3 − 2x2 − 12x + 9 = 0

−1, − 1, 2, 2

1, 1, − 2, − 2

−1, − 1, 3, 3

1, 1, − 3, − 3,

https://dl.doubtnut.com/l/_A4YPt50PGO16
https://dl.doubtnut.com/l/_WiEVASe0LinO


50. The there is a multiple root of order 3 for the equation

, then the other root is

A. 

B. 0

C. 1

D. 2

Answer: 1

Watch Video Solution

x4 − 2x3 + 2x − a = 0

−1

51. If one root of  is the double the other

then the roots are

A. 

B. 2, 2, - 1

C. 3/4, 3/2 , -5/3

24x3 − 14x2 − 63x + 45 = 0

−1, 1/2, 2

https://dl.doubtnut.com/l/_yMl5QpEn9VKA
https://dl.doubtnut.com/l/_34ZhPZBVTKHj


D. 

Answer: 3

Watch Video Solution

−3/2, − 3/4, 1/3

52. If one root of  is the double the other then

the roots are

A. 

B. 2, 2, - 1

C. 3/4, 3/2 , -5/3

D. 

Answer: 4

View Text Solution

24x3 + 46x2 + 9x − 9 = 0

−1, 1/2, 1

−3/2, − 3/4, 1/3

https://dl.doubtnut.com/l/_34ZhPZBVTKHj
https://dl.doubtnut.com/l/_QcyGHl3wOKDP


53. If two roots of  are in the ratio 2 : 3 then the

roots are

A. 2, 3, - 1

B. 

C. 

D. 2, 2, -1

Answer: 1

Watch Video Solution

x3 − 4x2 + x + 6 = 0

−3/2, − 2, 4

−1, 1/2, 2

54. If two roots of  are in the ratio 3 : 4 then

the roots are

A. 2, 3, - 1

B. 

C. 

2x3 − x2 − 22x − 24 = 0

−3/2, − 2, 4

−1, 1/2, 2

https://dl.doubtnut.com/l/_EHzPzhi8NuKG
https://dl.doubtnut.com/l/_NgwhDSpBRgFm


D. 2, 2, -1

Answer: 2

Watch Video Solution

55. If the sum of two of the roots of  is zero

then the roots are

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

4x3 + 16x2 − 9x − 36 = 0

±√5, 1 + i

, − , − 4
3

2

3

2

− , , −
1

2

1

2

1

5

±√2, √5

https://dl.doubtnut.com/l/_NgwhDSpBRgFm
https://dl.doubtnut.com/l/_R0SrdFcRkdh6


56. If the sum of two of the roots of  is

zero then the roots are

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 − 2x3 − 3x2 + 10x − 10 = 0

±√5, 1 ± i

±√5, 1, − 1

1/2, − 1/5, ± 1

√2, √5, ± 2

57. If two of the roots of  are being

equal in magnitude but opposite in sign then the roots are

A. 2/3, -1/2, 1, 2

B. 1, 2, -3

C. 3/4, -1/2

8x4 − 2x3 − 27x2 + 6x + 9 = 0

±

±√3,

https://dl.doubtnut.com/l/_nWvvaVSXiCh2
https://dl.doubtnut.com/l/_tPctC1QyN0iE


D. , -1, 2,5

Answer: 3

Watch Video Solution

−4

58. If the roots of  are in A.P. then the roots are

A. 1/2, 1/2, -1/5

B. 

C. 1/2, 1/2, -6

D.  1/2 ,3

Answer: 4

Watch Video Solution

2x3 − 3x2 − 11x + 6 = 0

−1/2, 1/3, 1/5

−2

https://dl.doubtnut.com/l/_tPctC1QyN0iE
https://dl.doubtnut.com/l/_fJwmhw88hscW


59. If the roots of  are in A.P then the

roots are

A. 

B. 1,1, -3, -5

C. 1/2, 1/2, -6

D.  1/2 ,3

Answer: 1

View Text Solution

x4 − 8x3 + 14x2 + 8x − 15 = 0

−1, 1, 3, 5

−2

60. If the roots of  are in A.P. then the

roots are

A. 2/3, -1/2, 1, 2

B. 1, 2, -3

C.  3/4, -1/2

x4 − 2x3 − 21x2 + 22x + 40 = 0

±

±√3,

https://dl.doubtnut.com/l/_fdqbk6LWefkM
https://dl.doubtnut.com/l/_UGTQ4oit9jec


D. 

Answer: 4

Watch Video Solution

−4, − 1, 2, 5

61. If the roots of  are in G.P. then roots are

A. 

B. 

C. 8/9, 4/3, 2,3

D. 2/3, 2,6

Answer: 4

Watch Video Solution

3x3 − 26x2 + 52x − 24 = 0

−1, 1, 3, 5

1, 1, − 3, − 5

https://dl.doubtnut.com/l/_UGTQ4oit9jec
https://dl.doubtnut.com/l/_bA1jfzK4KixC


62. If the roots of  are in G.P. then the

roots are

A. 1, -2, 4, -8

B.  1, 2, 3

C. 2i,2,3

D. 

Answer: 1

Watch Video Solution

x4 + 5x3 − 30x2 − 40x + 64 = 0

±

±

−3/2, − 1/3, 2 ± √3

63. If the roots of  are in G.P.

then the roots are

A. 

B. 1, 1, -3, -5

C. 8/9, 4/3, 2, 3

27x4 − 195x3 + 494x2 − 520x + 192 = 0

−1, 1, 3, 5

https://dl.doubtnut.com/l/_88eCBZgBjeXn
https://dl.doubtnut.com/l/_nCT6NWia2M9I


D.  1/2,3

Answer: 3

Watch Video Solution

−2,

64. If the roots of , are in increasing

geometric progression, its common ratio is

A. 2

B. 3

C. 4

D. 6

Answer: 3

Watch Video Solution

x3 − 42x2 + 336x − 512 = 0

https://dl.doubtnut.com/l/_nCT6NWia2M9I
https://dl.doubtnut.com/l/_PkoxFTYL9U13


65. If the roots of  are in H.P. then the roots

are

A. 1/4, 1/2, 3/4

B. 4 , 2 4/3

C. 1/3, 1/2, 2/3

D. 3, 2, 3/2

Answer: 2

Watch Video Solution

3x3 − 22x2 + 48x − 32 = 0

66. If the roots of  are in H.P . Then the roots

are

A. 1/2, 1/3 , 1/4

B. 1, 1/3, 1/5

C. 1, 0, -2

24x3 − 26x2 + 9x − 1 = 0

https://dl.doubtnut.com/l/_uIohnQJoNoe1
https://dl.doubtnut.com/l/_MrYowdEkaCP8


D. 1, 1, -2

Answer: 1

Watch Video Solution

67. The roots of the equation  are in ……

progression

A. Arithmetico-geometiric

B. Harmonic

C. Arithmetic

D. Geometric

Answer: 4

Watch Video Solution

x3 − 14x2 + 56x − 64 = 0

https://dl.doubtnut.com/l/_MrYowdEkaCP8
https://dl.doubtnut.com/l/_b0NEQpqJvejG


68. If two of the roots of  are di�er by 3 then the

roots are

A.  1/3, 2

B. /2, -4/3, -5/3

C. , 1/2, 2

D. 2, 2, -1

Answer: 3

View Text Solution

2x3 − 3x2 − 3x + 2 = 0

−1,

−3

−1

69. The di�erence between two roots of the equation

 is 2. then

A. , 9

B.  , -7 , -9

C. 3, -5, 7

x3 − 13x2 + 15x + 189 = 0

−3, 7

−3

https://dl.doubtnut.com/l/_A0HTceaytwv4
https://dl.doubtnut.com/l/_A2Ionq6G7Jnh


D. , -7 , 9

Answer: 1

View Text Solution

−3

70. If one root of  is equal to half of the

sum of the other two roots then the roots are

A. 1/3, 2

B.  -4/3, -5/3

C. , 1/2, 2

D. 2,2 - 1

Answer: 2

Watch Video Solution

18x3 + 81x2 + 121x + 60 = 0

−1,

−3/2,

−1

https://dl.doubtnut.com/l/_A2Ionq6G7Jnh
https://dl.doubtnut.com/l/_vu7GEKfs7vno


71. If the product of two of  is 2 then

the roots are

A. 4/3, 3/2, 1 + 

B. 

C. 

D. 

Answer: 1

View Text Solution

6x4 − 29x3 + 40x2 − 7x − 12 = 0

√2, 1 − √2

−4/3, 3/2, 1 + √2, 1 − √2

4/3, − 3/2, 1 + √2, 1 − √2

−4/3, − 3/2, 1 + √2, 1 − √2

72. If the product of two of the roots of  is

3 then the roots are

A. 

B.  1, 2, 3

C. 2i,2,3

x4 − 5x3 + 5x2 + 5x − 6 = 0

1, − 2, 4, − 8

±

±

https://dl.doubtnut.com/l/_3Jwsb8cyfmhZ
https://dl.doubtnut.com/l/_IkfGkVQJ2OUQ


D.  -1/3, 2

Answer: 2

Watch Video Solution

−3/2, ±√3

73. The roots of  are

A. 

B. 1,2,3,6

C. 

D. 1,2,-3, -6

Answer: 2

Watch Video Solution

x4 − 12x3 + 34x2 − 12x + 1 = 0

−1, − 2, − 3, − 6

−1, − 2, 3, 6

https://dl.doubtnut.com/l/_IkfGkVQJ2OUQ
https://dl.doubtnut.com/l/_QM73Ym2daSud


74. The condition that the roots of  may be in

A.P is

A. r = 3pq

B. 

C. 

D. none

Answer: 1

Watch Video Solution

x3 + 3px2 + 3qx + r = 0

2p3 +

p3r = q3

2q3 + r2 = 3pqr

75. The condition that the roots of  may be in

G.P is

A. r = 3pq

B. 

C. 

x3 + 3px2 + 3qx + r = 0

2p3 +

p3r = q3

2q3 + r2 = 3pqr

https://dl.doubtnut.com/l/_rTvF7Ti7gVjx
https://dl.doubtnut.com/l/_QPfHlK0jecMt


D. none

Answer: 2

Watch Video Solution

76. The condition that the roots of  are in

geometric progression is:

A. d

B. d

C. c = 

D. c =

Answer: 1

Watch Video Solution

x3 − bx2 + cx − d = 0

c3 = b3

c2 = b2

bd3

bd2

https://dl.doubtnut.com/l/_QPfHlK0jecMt
https://dl.doubtnut.com/l/_F793e1ZWFAAg


77. The condition that the roots of  may be in

G.P is

A. r = 3pq

B. 

C. 

D. none

Answer: 3

Watch Video Solution

x3 + 3px2 + 3qx + r = 0

2p3 +

p3r = q3

2q3 + r2 = 3pqr

78. If the roots of  are in A.P then k =

A. 3

B. 

C. 7

D. 

2x3 − 3x2 + kx + 6 = 0

−5

−11

https://dl.doubtnut.com/l/_Zcgkre4sFUuf
https://dl.doubtnut.com/l/_PrmcNkcTYKHI


Answer: 4

Watch Video Solution

79. If the roots  are in A.P. then k =

A. 

B. 1

C. 2

D. 3

Answer: 1

Watch Video Solution

4x3 − 12x2 + 11x + k = 0

−3

80. If the roots of  are in G.P. then k =

A. 

x3 − kx2 + 14x − 8 = 0

−3

https://dl.doubtnut.com/l/_PrmcNkcTYKHI
https://dl.doubtnut.com/l/_hBSVjDrkclxl
https://dl.doubtnut.com/l/_tfM4vkuoNiaI


B. 7

C. 4

D. 0

Answer: 2

Watch Video Solution

81. If the roots of  are in G.P. then k =

A. 16

B. 

C. 56

D. 

Answer: 4

Watch Video Solution

x3 − 14x2 + 56x + k = 0

−72

−64

https://dl.doubtnut.com/l/_tfM4vkuoNiaI
https://dl.doubtnut.com/l/_zhA5T8DXmHZq
https://dl.doubtnut.com/l/_zhOdcu2tThVM


82. If the roots of  are in H.P, then k is

A. 81

B. 27

C. 64

D. 45

Answer: 4

Watch Video Solution

kx3 − 18x2 − 36x + 8 = 0

83. Find the condition that  may have the sum of

its roots zero .

A. (pq - 2r)

B.  = 4(pq -2r)

C. 4(pr - 2q)

D.  = 4(pq - r)

x3 − px2 + qx − r = 0

q3 = 4

P 3

r3 =

p3

https://dl.doubtnut.com/l/_zhOdcu2tThVM
https://dl.doubtnut.com/l/_18x6Y6Vgrraj


Answer: 2

Watch Video Solution

84. The condition that the  may be the sum of the

other two roots is zero =

A. 11/4

B. 17/6

C. pq = r

D. 

Answer: 3

Watch Video Solution

x3 − px2 + qx − r = 0

q2 = p2r

85. If one root of  may be the sum of the other

two roots then k =

x3 + 3x2 + 5x + k = 0

https://dl.doubtnut.com/l/_18x6Y6Vgrraj
https://dl.doubtnut.com/l/_Oe2CLIJliZdS
https://dl.doubtnut.com/l/_J0ktAicSIi1P


A. 44139

B. 17/6

C. 25/9

D. 33/8

Answer: 4

Watch Video Solution

86. Let A =  if the sum of

two roots of the equation  is equal to zero.

Then B =

A. 

B. 0

C. 1

D. 2

∣
∣
∣

2 eiπ

i2 i2012

∣
∣
∣
, C = ( ) ∣x= 1 , D − ∫

2i
.

d

dx

1

x

dx

x

Ax3 + Bx2 + Cx + D = 0

−1

https://dl.doubtnut.com/l/_J0ktAicSIi1P
https://dl.doubtnut.com/l/_bdm3FZZtQt4X


Answer: 4

View Text Solution

87. The condition that the product of two of the roots

 is -1 is

A. r(p + r ) + q + 1 = 0

B. q (p + q) + r + 1 = 0

C. p(p + r ) + q + 1 = 0

D. p(p + q) + r + 1 = 0

Answer: 1

Watch Video Solution

x3 + px2 + qx + r = 0

88. If the product of two of the roots of  may be -1

then K =

x3 + kx2 − 3x + 4 = 0

https://dl.doubtnut.com/l/_bdm3FZZtQt4X
https://dl.doubtnut.com/l/_2ch3Y2xg7auh
https://dl.doubtnut.com/l/_j3sUZXnl0ObT


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

7/2

9/2

−7/2

−9/2

89. If  is a perfect square then 8r =

A. 1

B. 0

C. 2

D. 

Answer: 2

Watch Video Solution

x4 + px3 + rx + s2 p3 +

−1

https://dl.doubtnut.com/l/_j3sUZXnl0ObT
https://dl.doubtnut.com/l/_QiSR7thq0qHI


90. If  is a perfect square then ps =

A. r

B. q

C. s

D. 

Answer: 1

Watch Video Solution

x4 + px3 + rx + s2

±

±

±

−1

91. If -1, 2 ,  are roots of  then  =

A. 4

B. 

C. 

α 2x3 + x2 − 7x − 6 = 0 α

−3/2

7/4

https://dl.doubtnut.com/l/_QiSR7thq0qHI
https://dl.doubtnut.com/l/_wYEAVyvrwSni
https://dl.doubtnut.com/l/_AEugoSM6zVVt


D. 

Answer: 2

Watch Video Solution

−5

92. If 1, -2, 3 are roots of  then a =

A. 4

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x3 − 2x2 + ax + 6 = 0

−3/2

7/4

−5

93. If  are the roots of  then α, β and 1 x3 − 2x2 − 5x + 6 = 0 (α, β) =

https://dl.doubtnut.com/l/_AEugoSM6zVVt
https://dl.doubtnut.com/l/_4OpSDdUh6Qp4
https://dl.doubtnut.com/l/_jTFHREcvLgR2


A. 3, 2

B. 3, -2

C. 

D. 2, -3

Answer: 2

Watch Video Solution

−3, 2

94. If the product of the roots of 

 is 9 , then �nd a .

A. 9

B. 18

C. 36

D. 48

Answer: 3

4x3 + 16x2 − 9xa = 0

https://dl.doubtnut.com/l/_jTFHREcvLgR2
https://dl.doubtnut.com/l/_4RRHbB3IMqM9


Watch Video Solution

95. If  then  are

A. 1,33,-5

B. 

C. 1, -33, -5

D. 

Answer: 1

Watch Video Solution

x3 − x2 + 33x + 5 = 0 s1, s2, s3

−1, 33, 5

−1, − 33, 5

96. If  then  are

A. 16,86,176, 105

B. 18, 94, 165, 115

C. 8,74,83, 102

x4 − 16x3 + 86x2 − 17x + 105 = 0 s1, s2, s3, s4

https://dl.doubtnut.com/l/_4RRHbB3IMqM9
https://dl.doubtnut.com/l/_mBrlnFGrDvDK
https://dl.doubtnut.com/l/_5E9ED9Pn442o


D. none

Answer: 1

Watch Video Solution

97. If  then  are

A. 1/4 -27/8, -3/4, 9/8

B. /4, 27/8, 3/4, -9/8

C. /4, -27/8, 3/4 , -9/8

D. 1/4, 27/8, -3/4, 9/8

Answer: 1

Watch Video Solution

8x4 − 2x3 − 27x2 + 6x + 9 = 0 s1, s2, s3, s4

−1

−1

98. If  are the roots of  then  =α, β, γ x3 − 3x + 7 = 0 α + β + γ

https://dl.doubtnut.com/l/_5E9ED9Pn442o
https://dl.doubtnut.com/l/_vABBRjeE9db6
https://dl.doubtnut.com/l/_oaNIOC5leuHg


A. 0

B. 

C. 

D. 1

Answer: 1

Watch Video Solution

−3

−7

99. If  are the roots of  then  =

A. 0

B. 

C. 

D. 1

Answer: 3

Watch Video Solution

α, β, γ x3 − 3x + 7 = 0 αβγ

−3

−7

https://dl.doubtnut.com/l/_oaNIOC5leuHg
https://dl.doubtnut.com/l/_8hN2sBde8JKU


100. If  are the roots of  then 

 =

A. 4

B. 

C. 

D. 1

Answer: 3

Watch Video Solution

α, β, γ 4x3 − 6x2 + 7x + 3 = 0

αβ + αβ + αγ

−3/2

7/4

101. If  are roots of  then =

A. 0

B. 

C. 

α, β, γ x3 + 2x2 − 1 = 0 + +
1

α

1

β

1

γ

−3

−7

https://dl.doubtnut.com/l/_8hN2sBde8JKU
https://dl.doubtnut.com/l/_PF51ubX6wNqa
https://dl.doubtnut.com/l/_nfdIE6mMIDCk


D. 2

Answer: A

Watch Video Solution

102. If  are the roots of  then 

 =

A. 5

B. 

C. 

D. 0

Answer: 1

Watch Video Solution

α, β, γ 2x3 − 5x2 + 3x − 1 = 0

+ +
1

αβ

1

βγ

1

γα

−3

−7

https://dl.doubtnut.com/l/_nfdIE6mMIDCk
https://dl.doubtnut.com/l/_SCdalLktzSlS


103. If  are the roiots of  then 

 =

A. -88

B. 88

C. 

D. 1

Answer: 2

Watch Video Solution

α, β, γ x3 − 10x2 + 6x − 8 = 0

α2 + β2 + γ2

−7

104. If  are the roots of  then 

A. 

B. 

C. 

α, β, γ x3 − px2 + qx − r = 0

α2 + β2 + γ2 =

p2 − 2q

p3 − 3pq + 3r

p4 − 4p2q + 3pr + 2q2

https://dl.doubtnut.com/l/_hN1WFt7NQLrv
https://dl.doubtnut.com/l/_nAB1JPDm2Bew


D. 2q

Answer: 1

Watch Video Solution

105. If  are the roots of  then 

 =

A. 2

B. 

C. 4

D. 

Answer: 4

Watch Video Solution

α, β, γ x3 + x2 + x + 1 = 0

(α − β)2 + (β − γ)2 + (γ − α)2

−2

−4

https://dl.doubtnut.com/l/_nAB1JPDm2Bew
https://dl.doubtnut.com/l/_kAVAb50z6jH3


106. If  are the roots of  then  =

A. 1

B. 

C. 2

D. -2

Answer: 2

Watch Video Solution

α, β, γ x3 + x2 + x + 1 = 0 α3 + β3 + γ3

−1

107. If  are the roots of  then 

=

A. 

B. 

C. 

D. 2q

α, β, γ x3 − px2 + qx − r = 0 α3 + β3 + γ3

p2 − 2q

p3 − 3pq + 3r

p4 − 4p2q + 3pr + 2q2

https://dl.doubtnut.com/l/_6zIy0RgaRyvu
https://dl.doubtnut.com/l/_lcQYgRVZEL8R


Answer: 2

Watch Video Solution

108. The sum of the cubes of the roots of the equation

 is

A. 123

B. 36

C. 149

D. 795

Answer: 2

Watch Video Solution

x3 − 6x2 + 11x − 6 = 0

109. If  are roots of  then  =α, β, γ x3 − 5x + 4 = 0 (α3 + β3 + γ3)
2

https://dl.doubtnut.com/l/_lcQYgRVZEL8R
https://dl.doubtnut.com/l/_6tvlDbUEJx1a
https://dl.doubtnut.com/l/_v1G5L8PzZhX9


A. 12

B. 13

C. 169

D. 144

Answer: 4

Watch Video Solution

110. The sum of the fourth powers of the roots of the equation

is

A. 

B. 

C. 1

D. 2

Answer: 4

x3 + x + 1 = 0

−2

−1

https://dl.doubtnut.com/l/_v1G5L8PzZhX9
https://dl.doubtnut.com/l/_5lukQdCugSLf


Watch Video Solution

111. If  are the roots of  then  =

A. 1

B. 2

C. 3

D. 4

Answer: 3

Watch Video Solution

α, β, γ x3 + x2 + x + 1 = 0 α4 + β4 + γ4

112. If  are the roots of  then 

=

A. 

B. 

α, β, γ x3 − px2 + qx − r = 0 α4 + β4 + γ4

p2 − 2q

p3 − 3pq + 3r

https://dl.doubtnut.com/l/_5lukQdCugSLf
https://dl.doubtnut.com/l/_OaCpSfUHJiew
https://dl.doubtnut.com/l/_tPW2u3nDK2OE


C. 

D. 2q

Answer: 3

Watch Video Solution

p4 − 4p2q + 4pr + 2q2

113. If  are the roots of , then 

A. 6

B. 18

C. 36

D. 45

Answer: 4

Watch Video Solution

α, β, γ x3 + 3x + 3 = 0 α5 + β5 + γ5 =

https://dl.doubtnut.com/l/_tPW2u3nDK2OE
https://dl.doubtnut.com/l/_cDHbWrflCddd


114. If  are the roots of  then  =

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

α, β, γ x3 − px + q = 0 α6 + β6 + γ6

−2p3 − 3p3

−2p3 + 3p3

2p3 − 3p3

2p3 + 3p2

115. If 1,2,3 and 4 are the roots of the eqaution

 then a + 2b + c =

A. 3ab + 

B. 3ab - 

C. 

D. 

x4 + ax3 + bx2 + cx + d = 0,

a3 − c

a3 + c

3ab + a3 + c

3ab − a3 − 3c

https://dl.doubtnut.com/l/_CzaYSA8kXOqa
https://dl.doubtnut.com/l/_KLgbrImkUwv1


Answer: 4

Watch Video Solution

116. The sum of the fourth powers of the roots of the equation

 is

A. 99

B. 

C. 

D. 

Answer: 1

View Text Solution

x4 − x3 − 7x2 + x + 6 = 0

−140

−99

140

117. The sum of the �fth powers of the roots of the equation

 isx4 − 3x3 + 5x2 − 12x + 4 = 0

https://dl.doubtnut.com/l/_KLgbrImkUwv1
https://dl.doubtnut.com/l/_DCsEP0uv3Pi7
https://dl.doubtnut.com/l/_i5d0BjUdClIc


A. 123

B. 36

C. 149

D. 795

Answer: 1

View Text Solution

118. If  are the roots of the equation 

 then  =

A. 123

B. 36

C. 149

D. 795

Answer: 1

α, β, γ, δ

x4 − x3 − 7x2 + x + 6 = 0 ∑α6

https://dl.doubtnut.com/l/_i5d0BjUdClIc
https://dl.doubtnut.com/l/_xpLKZ7VoT3fV


View Text Solution

119. The sum of the fourth powers of the roots of the equation

 is

A. 

B. 

C. 2p

D. 3p

Answer: 1

View Text Solution

x5 + px3 + qx2 + s = 0

2p2

3p2

120. If  are roots of  then  =

A. 

B. 

α, β, γ x3 + px2 + qx + r = 0 ∑
1

α2

(q2 − 2pr)/r2

q3 − 3pqr + 3r2

https://dl.doubtnut.com/l/_xpLKZ7VoT3fV
https://dl.doubtnut.com/l/_XG0UBNbT30P5
https://dl.doubtnut.com/l/_S95fNzgxMMeA


C. 

D. 

Answer: 1

Watch Video Solution

(p2 − 2q)/r2

pq/r − 3

121. If  are roots of  then 

 =

A. 12

B. 13

C. 14

D. 15

Answer: 2

Watch Video Solution

α, β, γ x3 + 2x2 − 3x − 1 = 0,

a− 2 − β − 2 + γ − 2

https://dl.doubtnut.com/l/_S95fNzgxMMeA
https://dl.doubtnut.com/l/_yKKVV1MZyx7W
https://dl.doubtnut.com/l/_vFp502ngpNcl


122. If  are roots of equation , then the value of 

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

α, β, γ x3 − 7x + 7 = 0

α− 4 + β − 4 + γ − 4

11/12

11/7

3/7

−3/7

123. If  are roots of , then the value of 

 is

A. 123

B. 36

C. 149

α, β, γ x3 + 2x2 − 3x − 1 = 0

α4 + β4 + γ4

https://dl.doubtnut.com/l/_vFp502ngpNcl
https://dl.doubtnut.com/l/_oMnrglFz6a8s


D. 795

Answer: 3

View Text Solution

124. If  are roots of  then the value of 

 =

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

α, β, γ 2x3 + 3x2 − 6x + 3 = 0,

+ +
1

α4

1

β4

1

γ4

11/7

11/7

10/3

−10/3

https://dl.doubtnut.com/l/_oMnrglFz6a8s
https://dl.doubtnut.com/l/_oXtu2JG8DwVt


125. If  are roots of a cubic equation , then 

 =

A. -365

B. 518

C. 365

D. -518

Answer: 4

View Text Solution

α, β, γ x3 + 2x2 − 3x − 1 = 0

∑α− 5

126. If  are roots of  then  =

A. 2

B. 

C. 

D. 

α, β, γ, δ x3 − 4x2 − x + 2 = 0 ∑
1

α2

17/4

2/3

−3

https://dl.doubtnut.com/l/_xj4M1QmDmEhE
https://dl.doubtnut.com/l/_MUwuJBdoctqO


Answer: 2

Watch Video Solution

127. If  are roots of the equation  and  denotes

the sum of the r the powers of the roots of the equation then  =

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

α, β, γ x3 + qx + r = 0 Sr

3S2S5

S3S4

2S3S4

4S3S4

5S3S4

128. If  are roots of  then  =α, β, γ x3 + px + q = 0
α5 + β5 + γ5

5

https://dl.doubtnut.com/l/_MUwuJBdoctqO
https://dl.doubtnut.com/l/_HjOG0ICMrSnO
https://dl.doubtnut.com/l/_OT5Df8YhVSKX


A. 

B. 

C. 

D. none

Answer: 1

View Text Solution

.
α3 + β3 + γ3

3

α2 + β2 + γ2

2

+
α3 + β3 + γ3

3

α2 + β2 + γ2

2

−
α3 + β3 + γ3

3

α2 + β2 + γ2

2

129. If  and 

then  =

A. 98

B. 103

C. 224

D. 342

Answer: 1

α + β + γ = 6, α2 + β2 + γ2 = 14 α3 + β3 + γ3 = 36,

α4 + β4 + γ4

https://dl.doubtnut.com/l/_OT5Df8YhVSKX
https://dl.doubtnut.com/l/_aZG1Ocnu4SGf


View Text Solution

130. If  and  then 

 =

A. 6

B. 18

C. 36

D. 45

Answer: 1

View Text Solution

α + β + γ = 1, α2 + β2 + γ2 = 2 α3 + β3 + γ3 = 3,

α5 + β5 + γ5

131. If  are roots of a cubic equation satisfying the relations

 = 2,  then the cubic

equation is

α, β, γ

α + β + γ α2 + β2 + γ2 = 6 and α3 + β3 + γ3 = 8

https://dl.doubtnut.com/l/_aZG1Ocnu4SGf
https://dl.doubtnut.com/l/_kkEcfs3g1DGp
https://dl.doubtnut.com/l/_I687YxFrW5cN


A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

x3 + 2x2 − x + 2 = 0

x3 − 2x2 − x + 2 = 0

x3 − 2x2 + x + 2 = 0

x3 − 2x2 − x − 2 = 0

132. If  are roots of  then 

=

A. 

B. 3r - pq

C. pr + 4s

D. pr - 4s

Answer: 2

α, β, γ, δ x4 + px3 + qx2 + rx + s = 0 ∑α2β

3r + pq

https://dl.doubtnut.com/l/_I687YxFrW5cN
https://dl.doubtnut.com/l/_mgA4QxAetkCj


Watch Video Solution

133. If  are roots of  then 

=

A. 

B. 3r - pq

C. pr + 4s

D. pr - 4s

Answer: 4

Watch Video Solution

α, β, γ, δ x4 + px3 + qx2 + rx + s = 0

∑α2βγ

3r + pq

134. If  are roots of the equation 

 then  =

A. 

α, β, γ, δ

ax4 + 4bx3 + 6cx2 + 4dx + e = 0, ∑ (α − β)2

(b2 + ac)
48

a2

https://dl.doubtnut.com/l/_mgA4QxAetkCj
https://dl.doubtnut.com/l/_LGDnbrvR31yl
https://dl.doubtnut.com/l/_qHPLJxXr5BnB


B. 

C. 

D. 

Answer: 3

Watch Video Solution

− (b2 + ac)
48

a2

(b2 − ac)
48

a2

− (b2 − ac)
48

a2

135. If  are roots of  then 

 =

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

α, β, γ, δ ax4 + 4bx3 + 6cx2 + 4dx + e = 0,

∑α2β

(ad − 2bc)
12

a2

− (ad − 2bc)
12

a2

(ad + 2bc)
12

a2

− (ad + 2bc)
12

a2

https://dl.doubtnut.com/l/_qHPLJxXr5BnB
https://dl.doubtnut.com/l/_PQQYsRGr2XtJ


136. If  are roots of  then  =

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

α, β, γ x3 + px2 + qx + r = 0 ∑α3β3

(q2 − 2pr)/r2

q3 − 3pqr + 3r2

(p2 − 2q)/r2

pq/r − 3

137. If  are roots of  then 

A. 

B. 

C. 

D. 

α, β, γ x3 + px2 + qx + r = 0 ∑
1

α2β2

(q2 − 2pr)/r2

q3 − 3pqr + 3r2

(p2 − 2q)/r2

pq/r − 3

https://dl.doubtnut.com/l/_PQQYsRGr2XtJ
https://dl.doubtnut.com/l/_PE0jeWCFNSnd
https://dl.doubtnut.com/l/_RnGpQlsNgvkR


Answer: 3

View Text Solution

138. If  are roots of  then 

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

α, β, γ x3 + px2 + qx + r = 0

+ + =
β2 + γ2

βγ

γ2 + α2

γα

α2 + β2

αβ

(q2 − 2pr)/r2

q3 − 3pqr + 3r2

(p2 − 2q)/r2

pq/r − 3

139. If  are roots of the equation , then 

 =

α, β, γ x3 + px2 + qx + r = 0

(α + β)(β + γ)(γ + α)

https://dl.doubtnut.com/l/_RnGpQlsNgvkR
https://dl.doubtnut.com/l/_KxJ7dPGIoHmO
https://dl.doubtnut.com/l/_tYzCnO3IxFha


A. 

B. r - pq

C. 

D. 

Answer: 2

Watch Video Solution

2(p2 − 3q)

q2 − 2pr

p2 − 2q

r2

140. If  are roots of the equation , then 

 =

A. 

B. r - pq

C. 

D. 

Answer: 3

α, β, γ x3 + px2 + qx + r = 0

∑α2β2

2(p2 − 3q)

q2 − 2pr

p2 − 2q

r2

https://dl.doubtnut.com/l/_tYzCnO3IxFha
https://dl.doubtnut.com/l/_wp0viOeWCIIn


Watch Video Solution

141. If  are roots of , then the value of 

 is

A. 

B. 

C. 

D. 0

Answer: 1

Watch Video Solution

α, β, γ x3 − 2x2 + 3x − 4 = 0

α2β2 + β2γ2 + γ2α2

−7

−5

−3

142. If  are roots of the equation  , then 

 =

A. 

α, β, γ x3 + px2 + qx + r = 0

∑
1

αβ

2(p2 − 3q)

https://dl.doubtnut.com/l/_wp0viOeWCIIn
https://dl.doubtnut.com/l/_O4KJSKdsEntz
https://dl.doubtnut.com/l/_vcgsbMTEutWA


B. r - pq

C. 

D. 

Answer: 3

Watch Video Solution

p

r

p2 − 2q

r2

143. If  are roots of the equation  , then 

 =

A. 

B. r - pq

C. 

D. 

Answer: 1

Watch Video Solution

α, β, γ x3 + px2 + qx + r = 0

∑ (α − β)2

2(p2 − 3q)

q2 − 2pr

p2 − 2q

r2

https://dl.doubtnut.com/l/_vcgsbMTEutWA
https://dl.doubtnut.com/l/_6zz7vD8m7K0a


144. If  are roots of the equation  then

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

α, β, γ px3 + qx2 + rx + s = 0

∑α2β2 =

r2 + 2qs

p2

r2 − 2qs

p2

2qs + r2

p2

2qs − r2

p2

145. If  are roots of , then  =

A. q

B. 

C. 

α, β, γ x3 + qx + r = 0 ∑ (αβ)2

q2

−q

https://dl.doubtnut.com/l/_6zz7vD8m7K0a
https://dl.doubtnut.com/l/_ZWa7QUfiSsgs
https://dl.doubtnut.com/l/_4H2jwLxwJlTy


D. 

Answer: 2

Watch Video Solution

−3

146. If  are roots of  then  =

A. 

B. 

C. 

D. 2q

Answer: 4

Watch Video Solution

α, β, γ x3 − px2 + qx − r = 0 ∑α(β + γ)

p2 − 2q

p3 − 3pq + 3r

p4 − 4p2q + 3pr + 2q2

147. If  are roots of  then  =α, β, γ x3 − px2 + qx − r = 0 ∑α2(β + γ)

https://dl.doubtnut.com/l/_4H2jwLxwJlTy
https://dl.doubtnut.com/l/_xvJ9Et0x3h14
https://dl.doubtnut.com/l/_4KMXAa3dN172


A. pq - 3r

B. 

C. 

D. 

Answer: 1

Watch Video Solution

pq − 3r

r

q2 − 2pr

r2

p2 − 2q

r2

148. If  are roots of  then  =

A. pq + 3r

B. pq - 3r

C. 

D. 

Answer: 4

Watch Video Solution

α, β, γ x3 − px2 + qx − r = 0 α3β3γ3

p3 − 3pq + 3r

r3

https://dl.doubtnut.com/l/_4KMXAa3dN172
https://dl.doubtnut.com/l/_RHSEjld17CSz


149. If  are roots of  then 

 =

A. 

B. 

C. 

D. none

Answer: 2

View Text Solution

α, β, γ x3 − px2 + qx − r = 0

(α + β) − 1 + (β + γ) − 1 + (γ + α) − 1

q2 − 2pr

r2

p2 + q

pq − r

p2 − 2q

r2

150. If  are roots of , then  =

A. 7

B. 

C. 6

α, β, γ x3 − 2x2 + 3x − 4 = 0 ∑a2β2

−7

https://dl.doubtnut.com/l/_RHSEjld17CSz
https://dl.doubtnut.com/l/_E6PWRb9cB0H1
https://dl.doubtnut.com/l/_UnkJlDV8Czq6


D. 

Answer: 2

Watch Video Solution

−6

151. If  are roots of the equation  then 

 =

A. 12

B. 

C. 3

D. 

Answer: 2

View Text Solution

α, β, γ 3x3 + 6x2 − 9x + 2 = 0

∑ (α/β)

−12

−3

https://dl.doubtnut.com/l/_UnkJlDV8Czq6
https://dl.doubtnut.com/l/_hlAT4edz6YV7


152. If  are roots of , then  =

A. 7

B. 

C. 6

D. 

Answer: 4

Watch Video Solution

α, β, γ x3 − 2x2 + 3x − 4 = 0 ∑a2β2

−7

−6

153. If  are roots of the equation , then 

 =

A. 80

B. 84

C. 90

D. 

α, β, γ x3 − 6x2 + 11x + 6 = 0

∑α2β + ∑αβ2

−84

https://dl.doubtnut.com/l/_qStyP8beFmyH
https://dl.doubtnut.com/l/_n0qqJGvR2nox


Answer: 2

Watch Video Solution

154. Suppose  are the roots of . Then the

value of  is

A. 

B. 

C. 

D. 47

Answer: 1

Watch Video Solution

α, β, γ x3 + x2 + x + 2 = 0

( )( )( )
α + β − 2γ

γ

β + γ − 2α

α

γ + α − 2β

β

−
47
2

47
2

−47

155. If  are roots of  then  =α, β, γ x3 + ax2 + bx + c = 0 ∑α2β

https://dl.doubtnut.com/l/_n0qqJGvR2nox
https://dl.doubtnut.com/l/_03cAz4uWHwEF
https://dl.doubtnut.com/l/_seErUdWRn12z


A. 3c + ab

B. 3c - ab

C. 3a - bc

D. 3a + bc

Answer: 2

Watch Video Solution

156. If  are roots of  then 

 =

A. 

B. 

C. 

D. 

Answer: 1

α, β, γ x3 − ax2 + bx + c = 0

(α2 + 1)(β2 + 1)(γ2 + 1)

(c − a)2 + (b − 1)2

(c − a)2 − (b − 1)2

(c + a)2 + (b + 1)2

(c + a)2 − (b + 1)2

https://dl.doubtnut.com/l/_seErUdWRn12z
https://dl.doubtnut.com/l/_S0eWnPJuCxB1


View Text Solution

157. If  are roots of the equation  , then 

=

A. pq + 3r

B. pq - 3r

C. 

D.  + 3pq - 3r

Answer: 2

Watch Video Solution

α, β, γ x3 − px2 + qx − r = 0

∑α2β

p3 − 3pq + 3r

p3

158. If  are roots of  then  =

A. 2

B. 

α, β, γ, δ x4 − 4x2 − x + 2 = 0 ∑α2β

17/4

https://dl.doubtnut.com/l/_S0eWnPJuCxB1
https://dl.doubtnut.com/l/_cnhnL1wXcoN9
https://dl.doubtnut.com/l/_tmzXmzk7bpSK


C. 

D. 

Answer: 4

Watch Video Solution

2/3

−3

159. If  are the roots of  , then 

A. n

B. 0

C. 1

D. 

Answer: 1

Watch Video Solution

α1, α2, ………. , αn xn + px + q = 0

(αn − α1)(αn − α2)………(αn − αn− 1) =

−1

https://dl.doubtnut.com/l/_tmzXmzk7bpSK
https://dl.doubtnut.com/l/_Wny0c1aqV5gT
https://dl.doubtnut.com/l/_wQvSkXU04tZj


160. If  are the roots of  , then 

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

α1, α2, ………. , αn xn + px + q = 0

(αn − α1)(αn − α2)………(αn − αn− 1) =

(1 + p2 + p4…. )2 + (p1 + p3 + p5…)2

(1 − p2 + p4…. )2 + (p1 − p3 + p5…)2

(1 + p2 + p4…. )2 − (p1 + p3 + p5…)2

(1 − p2 + p4…. )2 − (p1 − p3 + p5…)2

161. if 

A. no imaginary roots

B. no positive roots

C. no negative roots

D. no real roots

= + , then(A1, A2, A3) =
5x2 + 2

x3 + x

A1

x

A2x + A3

x2 + 1

https://dl.doubtnut.com/l/_wQvSkXU04tZj
https://dl.doubtnut.com/l/_aACKvoerZWyn


Answer: 1

Watch Video Solution

162. If  are roots of equation . If a =

then a + b + c + d =

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

α, β, γ x3 − 10x2 + 7x + 8 = 0

α + β + γ, b = α2 + β2 + γ2, c = + + , d = + +
1

α

1

β

1

γ

α

βγ

β

γβ

γ

αβ

765

8

576

8

675

8

657

8

https://dl.doubtnut.com/l/_aACKvoerZWyn
https://dl.doubtnut.com/l/_YSeU5RKfRli5


163. Let  be the roots of  and 

. Then, the value of 

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

α, β, γ x3 + x + 10 = 0

α1 = , β1 = , γ1 =
α + β

γ2

β + γ

α2

γ + α

β2

(α3
1 + β3

1 + γ3
1) − (α2

1 + β2
1 + γ2

1)
1

10

1

10

1

5

3

10

1

2

164. The real number k for which the equation,  has two

distinct real roots in [0,1]

A. lies between -1 and 0

B. does not exist

2x3 + 3x + k = 0

https://dl.doubtnut.com/l/_kWRGOYcpF1Eb
https://dl.doubtnut.com/l/_ut9Xd9qL8RtP


Exercise 1 B

C. lies between 1 and 2

D. lies between 2 and 3

Answer: 2

View Text Solution

165. The number of real roots of the equation  is

A. 1

B. 2

C. 3

D. 5

Answer: 1

Watch Video Solution

x5 + 3x3 + 4x + 30 = 0

https://dl.doubtnut.com/l/_ut9Xd9qL8RtP
https://dl.doubtnut.com/l/_AtQgEgfxC6F5


1. The equation whose roots are those of equation

 with contrary signs

A. 

B. 0

C. 

D.  = 0

Answer: 1

View Text Solution

x4 − 3x3 + 5x2 − 2 = 0

x4 + 3x3 + 5x2 − 2 = 0

x7 + 3x5 + x3 + x2 + 7x − 2 =

x3 − 3x2 + 8x2 + 4 = 0

10x3 − 13x2 + 18x2 + 40

2. The equation whose roots are opposite in sign and equal in magnitude

of the roots of  is

A. 

B. 

x7 + 3x5 + x3 − x2 + 7x + 2 = 0

x5 − 4x4 + 12x3 − 16x2 + 64x + 96 = 0

x7 + 3x5 + x3 + x2 + 7x − 2 = 0

https://dl.doubtnut.com/l/_XAYkFGsoC4X8
https://dl.doubtnut.com/l/_ZZesv1hwuoCf


C. 

D. 

Answer: 2

View Text Solution

x5 + 11x4 + 42x3 + 57x2 − 13x − 60 = 0

2x4 − 5x3 − 7x2 + 3x − 1 = 0

3. If  are the roots of  thent the equation

whose roots are  is

A. 

B. 0

C. 

D.  = 0

Answer: 1

View Text Solution

α, β, γ 3x3 − 5x2 − 7x + 1 = 0

−α, − β, − γ

3x3 + 5x2 − 7x − 1 = 0

9x3 + 6x2 − 4x − 1 =

x3 − 3x2 + 8x2 + 4 = 0

10x3 − 13x2 + 18x2 + 40

https://dl.doubtnut.com/l/_ZZesv1hwuoCf
https://dl.doubtnut.com/l/_8j6Skda1YNps
https://dl.doubtnut.com/l/_wvxmLgps1xZ1


4. The equation whose roots are the negatives of the roots of the

equation  is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

x7 + 3x5 + x3 − x2 + 7x + 2 = 0

x7 + 3x5 + x3 + x2 − 7x + 2 = 0

x7 + 3x5 + x3 + x2 + 7x − 2 = 0

x7 + 3x5 + x3 − x2 − 7x − 2 = 0

x7 + 3x5 + x3 − x2 + 7x − 2 = 0

5. If -2, 5, 7, - 11 are the roots of  then the

roots of  are

A. 2,5,7,11

B. 2, -5, -7, 11

C. 2, 5 , -7 , - 11

ax4 + bx3 + cx2 + dx + e = 0

ax4 − bx3 + cx2 − dx + e = 0

https://dl.doubtnut.com/l/_wvxmLgps1xZ1
https://dl.doubtnut.com/l/_wPj2zqpMDwcd


D. 

Answer: 2

Watch Video Solution

−2, − 5, 7, 11

6. The equation whose roots are multiplied by 3 of those of

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

2x3 − 3x2 + 4x − 5 = 0

x3 − x2 + 6x − 8 = 0

x3 − 6x2 + 7x + 2 = 0

2x3 − 9x2 + 36x − 135 = 0

x4 + 3x3 + 4x2 − 28x − 16 = 0

https://dl.doubtnut.com/l/_wPj2zqpMDwcd
https://dl.doubtnut.com/l/_73Unt5xnpakg


7. The equation whose roots are diminish by 3 then those of

 is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x4 − 5x3 − 20x2 + 3x + 17 = 0

x3 − x2 + 6x − 8 = 0

x3 − 6x2 + 7x + 2 = 0

2x3 − 9x2 + 36x − 135 = 0

x4 + 6x3 + 8x2 − 56x − 32 − 0

8. The cubic equation whose roots are thrice to each of the roots of

 is

A. 

B. 

C. 

x3 + 2x2 − 4x + 1 = 0

x3 − 6x2 + 36x + 27 = 0

x3 + 6x2 + 36x + 27 = 0

x3 − 6x2 − 36x + 27 = 0

https://dl.doubtnut.com/l/_QTti50adglku
https://dl.doubtnut.com/l/_zX468OCzPHk8


D. 

Answer: 4

Watch Video Solution

x3 + 6x2 − 36x + 27 = 0

9. Find the algebraic equation whose roots are 2 times the roots of

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x5 − 2x4 + 3x3 − 2x2 + 4x + 3 = 0

x5 − 4x4 + 12x3 − 16x2 + 64x + 96 = 0

x7 + 3x5 + x3 + x2 + 7x − 2 = 0

x5 + 11x4 + 42x3 + 57x2 − 13x − 60 = 0

2x4 − 5x3 − 7x2 + 3x − 1 = 0

https://dl.doubtnut.com/l/_zX468OCzPHk8
https://dl.doubtnut.com/l/_u5gXEc9QLnCf


10. If  are the roots of  then the equation

whose roots are  is

A. 

B. 0

C. 

D.  = 0

Answer: 2

Watch Video Solution

α, β, γ x3 + 2x2 − 4x − 3 = 0

α/3, β/3, γ /3

3x3 + 5x2 − 7x − 1 = 0

9x3 + 6x2 − 4x − 1 =

x3 − 3x2 + 8x2 + 4 = 0

10x3 − 13x2 + 18x2 + 40

11. If  are the roots of  then the roots of

 are

A. 2, -2 , 4

B. 1/2, -1/2, 1/4

C. 1, -1, 2

2, − 2, 4 ax3 + bx2 + cx + d = 0

8ax3 + 4bx2 + 2cx + d = 0

https://dl.doubtnut.com/l/_42isTbGy59MY
https://dl.doubtnut.com/l/_5ihdjzfoyDC8


D. 4, -4, 8

Answer: 3

Watch Video Solution

12. If 1, -2, 3 are the roots of  then the roots of 

 are

A. 1, -2, 3

B. 

C. 1/3, -2/3, 1

D. 3, -6, 9

Answer: 4

Watch Video Solution

ax3 + bx2 + cx + d = 0

ax3 + 3bx2 + 9cx + 27d = 0

−1, 2, − 3

https://dl.doubtnut.com/l/_5ihdjzfoyDC8
https://dl.doubtnut.com/l/_7evouQwUs4lI


13. If the roots of  are in G.P. then the roots of

 are in

A. A.P

B. G.P

C. H.P

D. none

Answer: 2

Watch Video Solution

ax3 + bx2 + cx + d = 0

ak3x3 + bk2x2 + ckx + d = 0

14. The equation whose roots are reciprocals of the roots of

 + 25x - 6 = 0 ` is

A. 

B. 

C. 

6x6 − 25x5 + 31x4 − 31x2

x3 − 6x2 + 7x + 2 = 0

4x3 − 2x3 + 6x2 − 3x − 1 = 0

6x6 − 25x5 + 31x4 − 31x2 + 25x − 6 = 0

https://dl.doubtnut.com/l/_Zz84kMzeyFvw
https://dl.doubtnut.com/l/_iD9ZSFKnhZYg


D. 

Answer: 3

Watch Video Solution

x4 + 3x3 + 4x2 − 28x − 16 = 0

15. Let  be a real root of the equation 

where a  - 1 is a real number, then a root of this equation, among the

following , is :

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

α ≠ 1 x3 − ax2 + ax − 1 = 0,

≠

α2

−
1

α

1

α

−
1

α2

https://dl.doubtnut.com/l/_iD9ZSFKnhZYg
https://dl.doubtnut.com/l/_mIphn1koIbFy
https://dl.doubtnut.com/l/_glTiv1FCyF4X


16. If 3/4, -5/2, 1/2 , -3 are the roots of 

then the roots of  are

A. 3/4, -5/2, 1/2, -3

B. 

C. 4/3, -2/5, 2, -1/3

D. 

Answer: 3

Watch Video Solution

ax4 + bx3 + cx2 + dx + e = 0

ex4 + dx3 + cx2 + bx + d = 0

−3/4, 5/2, − 1/2, 3

−4/3, 2/5, − 2, 1/3

17. If the roots of  are in A.P then the roots of 

 are in

A. A.P

B. G.P

C. H.P

ax3 + bx2 + cx + d = 0

dx3 + cx2 + bx + a = 0

https://dl.doubtnut.com/l/_glTiv1FCyF4X
https://dl.doubtnut.com/l/_G1Ujsi05uFeq


D. none

Answer: 3

Watch Video Solution

18. If the roots of  are in H.P then the roots of 

 are in

A. A.P

B. G.P

C. H.P

D. none

Answer: 1

Watch Video Solution

ax3 + bx2 + cx + d = 0

dx3 − cx2 + bx − a = 0

https://dl.doubtnut.com/l/_G1Ujsi05uFeq
https://dl.doubtnut.com/l/_5IdpYhrZm9DI


19. If the roots of  are in G.P then the roots of 

 are in

A. A.P

B. G.P

C. H.P

D. none

Answer: 2

Watch Video Solution

ax3 + bx2 + cx + d = 0

dx3 − cx2 + bx − a = 0

20. The equation whose roots are exceed by 1 then those of

0 is

A. 

B. 

C. 

x3 − 5x2 + 6x − 3 =

2x3 − 9x2 + 8x + 9 = 0

x3 − 8x2 + 19x − 15 = 0

x3 − 8x2 + 23x − 23 = 0

https://dl.doubtnut.com/l/_dyHYeVcORrCb
https://dl.doubtnut.com/l/_IuZRiKbn90aS


D. 

Answer: 2

Watch Video Solution

4x3 − 2x3 + 6x2 − 3x − 1 = 0

21. The equation whose roots are exceed by 2 then those

 is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 + x3 − 10x2 + 4x + 24 = 0

x4 − 7x3 + 8x2 + 24x − 16 = 0

x5 − 7x3 + 12x2 − 7x = 0

x4 + 7x3 − 11x2 − 144x − 208 = 0

x5 + 11x4 + 45x3 + 81x2 + 50x − 6 = 0

https://dl.doubtnut.com/l/_IuZRiKbn90aS
https://dl.doubtnut.com/l/_6iRynpgDhrez


22. The equation whose roots are exceed by 1 then those of

 is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x5 + 5x4 + 3x3 + x2 + x − 1 = 0

x4 − 9x3 + 20x2 = 0

x5 − 7x3 + 12x2 − 7x = 0

x4 + 7x3 − 11x2 − 144x − 208 = 0

x5 + 11x4 + 45x3 + 81x2 + 50x − 6 = 0

23. The equation whose roots are diminish by 1 than those of

 is

A. 

B. 

C. 

x3 + 2x2 + 3x + 4 = 0

x3 + 5x2 + 10x + 10 = 0

x3 + 8x2 + 20x + 16 = 0

x3 − 8x2 + 16x − 9 = 0

https://dl.doubtnut.com/l/_13ol8yHdiosB
https://dl.doubtnut.com/l/_rhXU5Hwz7ItZ


D. 

Answer: 1

View Text Solution

x3 + x2 − x + 1 = 0

24. The equation whose roots are diminish by 3 then those of

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x4 − 5x3 − 20x2 + 3x + 17 = 0

x4 − 9x3 + 20x2 = 0

x5 − 7x3 + 12x2 − 7x = 0

x4 + 7x3 − 11x2 − 144x − 208 = 0

x5 + 11x4 + 45x3 + 81x2 + 50x − 6 = 0

https://dl.doubtnut.com/l/_rhXU5Hwz7ItZ
https://dl.doubtnut.com/l/_xih3ZGyXQjOn


25. The equation whose roots are diminish by 3 then those

 is

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

x5 − 4x4 + 3x2 − 4x + 6 = 0

x5 − 4x4 + 12x3 − 16x2 + 64x + 96 = 0

x7 + 3x5 + x3 + x2 + 7x − 2 = 0

x5 + 11x4 + 42x3 + 57x2 − 13x − 60 = 0

2x4 − 5x3 − 7x2 + 3x − 1 = 0

26. If 2, -3 , 5 are the roots of  then the roots of a

 = 0 are

A. 2, -3, 5

B. 1, -4, 4

C. 3, -2, 6

ax3 + bx2 + cx + d = 0

(x − 1)3 + b(x − 1)2 + c(x − 1) + d

https://dl.doubtnut.com/l/_UYuTg5P9L1T9
https://dl.doubtnut.com/l/_ymrcMnemHjmM


D. 1/2, -1/3, 1/5

Answer: 3

View Text Solution

27. If  are the roots of  then the

roots of a  are

A. 1,2, -3 , -4

B. 

C. 1, 1/2 1/3, 1/4

D. 1,2,3,4

Answer: 1

View Text Solution

±2, ± 3 ax4 + bx3 + cx2 + dx + e = 0

(x + 1)4 + b(x + 1)2 + c(x + 1)2 + a(x + 1) + e = 0

−1, − 2, 3, 4

https://dl.doubtnut.com/l/_ymrcMnemHjmM
https://dl.doubtnut.com/l/_8tCgLkcxMnVF


28. If the roots of  are in A.P then the roots of

 are in

A. A.P

B. G.P

C. H.P

D. none

Answer: 1

Watch Video Solution

ax3 + bx2 + cx + d = 0

a(x + k)3 + b(x + k)2 + c(x + k) + d = 0

29. Form the equation whose roots are m times the roots of the equation

 and deduce the case when m =12 .

A. 3

B. 12

C. 9

x3 + − + = 0
x2

4
x

16

1

72

https://dl.doubtnut.com/l/_RJQVxvsJ5lra
https://dl.doubtnut.com/l/_yMT6Rf1JAGOc


D. 4

Answer: 2

Watch Video Solution

30. The transformed equation with integer coe�cients whose roots are

multiplied by some constant of those of  is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

x3 − 4x2 − x − = 0
1

4

1

9

y4 − y3 + 3y2 − 10y + 1 = 0

y3 − 24y2 − 9y − 24 = 0

y4 − 2y3 + 6y − 6 = 0

y4 − 5y3 + 3y2 − 9y + 27 = 0

https://dl.doubtnut.com/l/_yMT6Rf1JAGOc
https://dl.doubtnut.com/l/_0VrPKG7DWMr5


31. The transformed equation with integer co-e�cients whose roots are

multipled by some constant of those of

 is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 − x3 + x2 − x + = 0
1

2

3

4

5

4

1

16

y4 − y3 + 3y2 − 10y + 1 = 0

y3 − 24y2 − 9y − 24 = 0

y4 − 2y3 + 6y − 6 = 0

y4 − 5y3 + 3y2 − 9y + 27 = 0

32. The transformed equation of , by

eliminating fractional coe�cients is

A. 

B. 

x3 − 4x2 + x − = 0
1

4

1

9

y3 + 15y2 + 52y − 36 = 0

y4 − 24y2 + 65y − 55 = 0

https://dl.doubtnut.com/l/_8Qw7ykpM8KQV
https://dl.doubtnut.com/l/_gAOJUfG11pyg


C. 

D. 

Answer: 4

View Text Solution

4x4 − 2x3 + 6x2 − 3x − 1 =

y3 − 24y2 + 9y − 24 = 0

33. The transformed equation with integer coe�cients and unity for the

coe�cient of �rst term, whose roots are multiplied by some constant of

those of  is

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

3x4 − 5x3 + x2 − x + 1 = 0

y4 − y3 + 3y2 − 10y + 1 = 0

y3 − 24y2 − 9y − 24 = 0

y4 − 2y3 + 6y − 6 = 0

y4 − 5y3 + 3y2 − 9y + 27 = 0

https://dl.doubtnut.com/l/_gAOJUfG11pyg
https://dl.doubtnut.com/l/_qposZYp0iNwe


34. The transformed equation of , by

removing fractional coe�cients, is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

x3 − x2 − x + = 0
5

2
7
18

1

108

x4 − 25x3 + 357x2 − 11700 = 0

x3 − 3x2 − x + 6 = 0

x3 − 3x2 − 24x − 216 = 0

x3 − 15x2 − 14x + 2 = 0

35. The transformed equation of

 into another with integral

coe�cients and unity for the coe�cient of the �rst term is

A. 

a4b3x4 + a3b2x3 + a2b2x2 + bx + a = 0

x4 + ax3 + a2bx2 + a2bx + a5b = 0

https://dl.doubtnut.com/l/_qposZYp0iNwe
https://dl.doubtnut.com/l/_hNgJTDu2esii
https://dl.doubtnut.com/l/_IkLzx0x0M3xy


B. 

C. 

D. 

Answer: 1

View Text Solution

x4 + ax3 − a2bx2 + a2bx − a5b = 0

x4 − ax3 + a2bx2 − a2bx + a5b = 0

x4 − ax3 + a2bx2 + a2bx − a5b = 0

36. The transformed equation of , by eliminating

second term is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x3 − 6x2 + 5x + 8 = 0

x3 + 7x − 2 = 0

x3 − 7x + 2 = 0

x3 + 7x + 2 = 0

x3 − 7x − 2 = 0

https://dl.doubtnut.com/l/_IkLzx0x0M3xy
https://dl.doubtnut.com/l/_MpEXWMrJx14u


37. Each of the roots of the equation  are

increased by k so that the new transformed equation does not contain 

term. Then k =

A. 

B. 

C. 1

D. 

Answer: 4

Watch Video Solution

x3 − 6x2 + 6x − 5 = 0

x2

1/3

1/2

−2

38. The transformed equation of  by eliminating

second term is

A. 

x4 + 8x3 + x − 5 = 0

y5 − 7y3 + 12y2 − 7y = 0

https://dl.doubtnut.com/l/_MpEXWMrJx14u
https://dl.doubtnut.com/l/_NphiyAdwXUhX
https://dl.doubtnut.com/l/_s8oy2TxIA0bd


B. 

C. 

D. 

Answer: 4

Watch Video Solution

y3 − 2y + 1 = 0

y4 − 4y2 + 1 = 0

y4 − 24y2 + 65y − 55 = 0

39. The transformed equation of , by

eliminating second term is

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

x4 + 4x3 + 2x2 − 4x − 2 = 0

y5 − 7y3 + 12y2 − 7y = 0

y3 − 2y + 1 = 0

y4 − 4y2 + 1 = 0

y4 − 24y2 + 65y − 55 = 0

https://dl.doubtnut.com/l/_s8oy2TxIA0bd
https://dl.doubtnut.com/l/_e1eD7fLY9bHk


40. The transformed equation of  , by

eliminating second terms is

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

x5 + 5x4 + 3x3 + x2 + x − 1 = 0

y5 − 7y3 + 12y2 − 7y = 0

y3 − 2y + 1 = 0

y4 − 4y2 + 1 = 0

y4 − 24y2 + 65y − 55 = 0

41. Number of transformed equations of  by

eliminating third term is

A. 

B. 

x3 + 2x2 + x + 1 = 0

x4 + 6x3 − 12x + 8 = 0  or x4 − 6x3 + 42x + 53 = 0

x4 + 6x3 − 12x − 8 = 0  or x4 − 6x3 + 42x − 53 = 0

https://dl.doubtnut.com/l/_e1eD7fLY9bHk
https://dl.doubtnut.com/l/_wuRiL6DLljBb
https://dl.doubtnut.com/l/_bae22FC3HN7W


C. 

D. 

Answer: 4

Watch Video Solution

x3 + x2 + 1 = 0  or 27x3 − 27x2 + 23 = 0

x3 − x2 + 1 = 0  or 27x3 + 27x2 + 23 = 0

42. The transformed equation of  by

eliminating third term is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

x4 + 2x3 − 12x2 + 2x − 1 = 0

x4 + 6x3 − 12x + 8 = 0  or x4 − 6x3 + 42x + 53 = 0

x4 + 6x3 − 12x − 8 = 0  or x4 − 6x3 + 42x − 53 = 0

x3 + x2 + 1 = 0  or 27x3 − 27x2 + 23 = 0

x3 − x2 + 1 = 0  or 27x3 + 27x2 + 23 = 0

https://dl.doubtnut.com/l/_bae22FC3HN7W
https://dl.doubtnut.com/l/_nznAINXJwE7O
https://dl.doubtnut.com/l/_0NdESgemrdqi


43. The equation whose roots are square of the roots of

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

x3 − 2x2 − 2x + 3 = 0

x3 + 5x2 + 10x + 10 = 0

x3 + 8x2 + 20x + 16 = 0

x3 − 8x2 + 16x − 9 = 0

x3 + x2 − x + 1 = 0

44. The cubic equation whose roots are the squares of the roots of

 is

A. 

B. 

C. 

x3 − 2x2 + 10x − 8 = 0

x3 + 8x2 + 68x − 64 = 0

x3 + 16x2 − 68x − 64 = 0

x3 − 16x2 + 68x − 64 = 0

https://dl.doubtnut.com/l/_0NdESgemrdqi
https://dl.doubtnut.com/l/_ILNWNIKun3bY


D. 

Answer: 4

Watch Video Solution

x3 + 16x2 + 68x − 64 = 0

45. The equation whose roots are square of the roots of

 is

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

x3 + x2 + x + 1 = 0

x3 + 5x2 + 10x + 10 = 0

x3 + 8x2 + 20x + 16 = 0

x3 − 8x2 + 16x − 9 = 0

x3 + x2 − x + 1 = 0

https://dl.doubtnut.com/l/_ILNWNIKun3bY
https://dl.doubtnut.com/l/_i035aH9MRSZ5


46. Find the polynomial equation whose roots are the squares of the

roots of 

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

x4 + x3 + 2x2 + x + 1 = 0

x4 + 3x3 + 4x2 + 3x + 1 = 0

x3 + 33x2 + 12x + 8 = 0

y5 − 7x3 + 12y2 − 7y = 0

y3 − 2y + 1 = 0

47. The equation whose roots are square of the roots of

 is

A. 

B. 

C. 

x4 + x3 + x2 + x + 1 = 0

x4 + 3x3 + 4x2 + 3x + 1 = 0

x4 − 5x3 − 11x + 3 = 0

x3 − 23x2 + 13x − 36 = 0

https://dl.doubtnut.com/l/_aoC3nyFT11fB
https://dl.doubtnut.com/l/_AJBzTJAj8bbQ


D. 

Answer: 4

Watch Video Solution

x4 + x3 + x2x + 1 = 0

48. If 2, 3, 5 are the roots of  then the roots of 

 are

A. 

B. 

C. 4, 9, 25

D. 

Answer: 3

View Text Solution

ax3 + bx2 + cx + d = 0

ax√x + bx + c√x + d = 0

2, 3, 5

4, 6, 10

√2, √3, √5

https://dl.doubtnut.com/l/_AJBzTJAj8bbQ
https://dl.doubtnut.com/l/_M8Q4mZTBFPc3


49. Form the polynomial equation whose roots are cubes of the roots of

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x3 + 3x2 + 2 = 0

x4 + 3x3 + 4x2 + 3x + 1 = 0

x3 + 33x2 + 12x + 8 = 0

y5 − 7x3 + 12y2 − 7y = 0

y3 − 2y + 1 = 0

50. If  are the roots of  then the equation whose

roots  is

A. 

B. 

C. 

α, β, γ x3 + qx + r = 0

+ , + , +
β

γ

γ

β

γ

α

α

β

α

β

β

α

x3 − q2 − x2 − 2qr2x − r4 = 0

rx3 + q(1 − r)x2 + (1 − r)3 = 0

x3 − 2qx2 + q2x + r2 = 0

https://dl.doubtnut.com/l/_in2X8zzVQvpM
https://dl.doubtnut.com/l/_adKLKIuyGTaW


D. 

Answer: 4

View Text Solution

r2x3 + 3r2x2 + (3r2 + q3)x + 2q3 + r2 = 0

51. If  are the roots of  thent the equation whose

roots  is

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

α, β, γ x3 + 2x + 5 = 0

βγ + , γα + , αβ +
1

α

1

β

1

γ

5x3 + 8x − 64 = 0

5x3 − 8x2 + 64 = 0

5x2 − 8x2 − 64 = 0

5x2 + 8x2 − 64 = 0

https://dl.doubtnut.com/l/_adKLKIuyGTaW
https://dl.doubtnut.com/l/_y4t9YdGj4ldL


52. If  are the roots of  then the equation whose

roots  is

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

α, β, γ x3 + 3x + 4 = 0

+ , + , +
β

γ

γ

β

γ

α

α

γ

α

β

β

α

16x3 + 48x2 + 75x + 70 = 0

16x3 − 48x2 + 75x + 70 = 0

16x3 + 48x2 − 75x + 70 = 0

16x2 − 48x2 + 75x − 70 = 0

53. If  are the roots of  then the equation whose

roots  is

A.  is

B. 

C. 

α, β, γ x3 + qx + r = 0

(β − γ)2, (γ − α)2, (α − β)2

x3 + 6qx2 + 9q2x + 4q2 + 27r2 = 0

x3 + 2qx2 + 9q2x + 4q2 + 27 = 0

x3 + 3qx2 + 6q2x + 2q2 + 27 = 0

https://dl.doubtnut.com/l/_ApcW4GEXGVyK
https://dl.doubtnut.com/l/_6wlwKhDkTWRs


D. 

Answer: 1

View Text Solution

x3 + qx2 + 3q2x + 6q2 + 27 = 0

54. If  are the roots of  then the equation whose

roots  is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

α, β, γ x3 + qx + q = 0

βγ + , γα + , αβ +
1

α

1

β

1

γ

x3 − q2 − x2 − 2qr2x − r4 = 0

rx3 + q(1 − r)x2 + (1 − r)
3

= 0

x3 − 2qx2 + q2x + r2 = 0

r2x3 + 3r2x2 + (3r2 + q3)x + 2q3 + r2 = 0

https://dl.doubtnut.com/l/_6wlwKhDkTWRs
https://dl.doubtnut.com/l/_gHnwI0Htzbx1


55. If  are the roots of  then the equation whose

roots are  is

A. 

B. 

C. 

D. 

Answer: 4

View Text Solution

α, β, γ x3 + 3px + q = 0

, and
α + 1

β + γ − α

β + 1

γ + α − β

γ + 1

α + β − γ

8y3 + 12y2 + (6 + 6p)y + 1 + 3p − q = 0

8qy3 − 12y(q + p)y2 + 6(q − 2p)y + (q + 3p − 1) = 0

8qy3 + 12(q + p)y2 + 6(q − 2p)y + (q + 3p − 1) = 0

8qy3 − 12(q − p)y2 − 6(q − 2p)y + (q − 3p + 1) = 0

56. If  are the roots of  then the equation whose

roots  is

A. 

B. 

C. 

α, β, γ x3 + 3x + 2 = 0

(β − γ)
2
, (γ − α)

2
, (α − β)

2

y3 − 29y2 − 50y + 625 = 0

y3 + 18y2 + 81y + 216 = 0

y4 − 24y2 + 65y − 55 = 0

https://dl.doubtnut.com/l/_i5wOmtnZqHbr
https://dl.doubtnut.com/l/_RASwTReZLqEd


D. 

Answer: 2

View Text Solution

5y5 − 12y2 + 68y − 155 = 0

57. If  are the roots of  

 then �nd the equation whose roots are 

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

α, β, γ

x3 − 7x + 6 = 0

(α − β)2, (β − γ)2, (γ − α)2

x3 − 42x2 + 441x − 400 = 0

x3 + 42x2 + 441x − 400 = 0

x3 + 28x2 + 245x − 650 = 0

x3 − 28x2 + 245x − 650 = 0

https://dl.doubtnut.com/l/_RASwTReZLqEd
https://dl.doubtnut.com/l/_GiPnlg0vB8mg
https://dl.doubtnut.com/l/_6sVN4wMXvUgC


58. If  are the roots of  then the equation whose

roots are 

 is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

α, β, γ x3 + 4x + 1 = 0

, ,
α2

β + γ

β2

γ + α

γ2

α + β

x3 − 4x − 1 = 0

x3 − 4x + 1 = 0

x3 + 4x − 1 = 0

x3 + 4x + 1 = 0

59. If  are the roots of  then the equation

whose roots  is

A. 

B. 

α, β, γ x3 + x2 + 2x + 3 = 0

β + γ, γ + α, α + β

x3 + 2x2 + 3x − 1 = 0

x3 + 2x2 + 3x + 1 = 0

https://dl.doubtnut.com/l/_6sVN4wMXvUgC
https://dl.doubtnut.com/l/_iWGotgO9QaUy


C. 

D. 

Answer: 1

Watch Video Solution

x3 + 2x2 − 3x − 1 = 0

x3 − 2x2 + 3x − 1 = 0

60. If  are the roots of  then the equation

whose roots  is

A. 

B. 

C. 

D. 

Answer: 2

View Text Solution

α, β, γ x3 + 2x2 − 3x + 4 = 0

βγ, γα, αβ

x3 + 3x2 + 8x + 16 + 0

x3 + 3x2 + 8x − 16 = 0

x3 + 3x2 − 8x − 16 = 0

x3 − 3x2 + 8x + 16 = 0

https://dl.doubtnut.com/l/_iWGotgO9QaUy
https://dl.doubtnut.com/l/_9FXGoA6FTMiq
https://dl.doubtnut.com/l/_SmUMrNTzbV7D


61. If  are the roots of  then the equation

whose roots  is

A. 

B. 

C. 

D. 

Answer: 1

View Text Solution

α, β, γ x3 − 2x2 + 3x + 5 = 0

β2γ2, γ2α2, α2β2

y3 − 29y2 − 50y − 625 = 0

2y3 − 39y2 − 70y + 125 = 0

y4 − 24y2 + 65y − 55 = 0

5y5 − 12y2 + 68y − 155 = 0

62. If  are the roots of 

 then �nd the equation whose roots are 

A. 

B. 

α, β, γ

x3 − 6x2 + 11x − 6 = 0

α2 + β2, β2 + γ2, γ2 + α2

x3 − 42x2 + 441x − 400 = 0

x3 + 42x2 + 441x − 400 = 0

https://dl.doubtnut.com/l/_SmUMrNTzbV7D
https://dl.doubtnut.com/l/_OByRhAYxyZS1


C. 

D. 

Answer: 4

Watch Video Solution

x3 + 28x2 + 245x − 650 = 0

x3 − 28x2 + 245x − 650 = 0

63. If  are the roots of  then the equation whose

roots are  is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

α, β, γ x3 − 6x − 4 = 0

(βγ + ), (γα + ), (αβ + )
1

α

1

β

1

γ

2x3 + 4x2 + 3x + 1 = 0

2x3 + 4x2 + 3x − 1 = 0

2x2 + 4x2 − 3x − 1 = 0

2x3 − 4x2 + 3x − 1 =

https://dl.doubtnut.com/l/_OByRhAYxyZS1
https://dl.doubtnut.com/l/_y0KtLcOsgw31
https://dl.doubtnut.com/l/_rtiIn3n3eKdV


64. If  are the roots of  then the equation

whose roots  is

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

α, β, γ x3 + 2x2 − 5x + 3 = 0

α − , β − , γ −
1

βγ

1

γα

1

αβ

9x3 + 8x2 + 80x + 64 = 0

9x3 + 8x2 + 80x − 64 = 0

9x3 + 8x2 − 80x + 64 = 0

9x2 − 8x2 + 80x − 64 = 0

65. If  are the roots of  then the

equation whose roots are  is

A. 

B. 

C. 

α, β, γ x3 + 3px2 + 3px + r = 0

α − , β − , γ −
1

βγ

1

γα

1

αβ

y3 − 29y2 − 50y + 625 = 0

2y3 − 36y2 + 182y + 432 = 0

r2y3 + 3pr(r + 1)y2 + 3q(r + 1)
2
y + (r + 1)

3
= 0

https://dl.doubtnut.com/l/_rtiIn3n3eKdV
https://dl.doubtnut.com/l/_6AGaovtJdaki


D. 

Answer: 3

View Text Solution

y3 − q2y2 − 2qr2y − r4 = 0

66. If  are the roots of  , then form the

cubic equation whose roots are 

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

α, β, γ x3 + px2 + qx + r = 0

α(β + γ), β(γ + α), γ(α + β)

x3 + 2qx2 + (q2 + pr)x − r(pq − r) = 0

x3 − 2qx2 + (q2 − pr)x − r(pq − r) = 0

x3 + 2qx2 + (q2 − pr)x − r(pq − r) = 0

x3 − 2px2 + (q2 + pr)x − r(pq − r) = 0

https://dl.doubtnut.com/l/_6AGaovtJdaki
https://dl.doubtnut.com/l/_cGZcLxOEw6wg


67. If  are the roots of the equation  then

the coe�cient of x in cubic equation whose roots are 

 is

A. 2q

B. 

C. 

D. 

Answer: 2

Watch Video Solution

α, β, γ x3 + px2 + qx + r = 0

α(β + γ), β(γ + α) and γ(α + β)

q2 + pr

p2 − qr

r(pq − r)

68. The roots of  are

A. 1/4

B. 1,2,1/2

C. 1,4,1/4

4x3 − 13x2 − 13x + 4 = 0

−1, 4,

https://dl.doubtnut.com/l/_PVbZS1pYNNcM
https://dl.doubtnut.com/l/_p7WXHpB8H2td


D. 

Answer: 1

Watch Video Solution

−1, 2, −
1

2

69. The roots of  are

A. 

B. 

C. 1, -1, -2, -

D. 2, 

Answer: 1

Watch Video Solution

2x4 + x3 − 6x2 + x + 2 = 0

1, 1, − 2, −
1

2

1, ,
1 ± √3i

2

3 ± √5

2

, 3,
1

2

1

3

, 3,
1

2

1

3

70. The roots of  arex4 − 10x3 + 26x2 − 10x + 1 = 0

https://dl.doubtnut.com/l/_p7WXHpB8H2td
https://dl.doubtnut.com/l/_K1vAZjmga6J2
https://dl.doubtnut.com/l/_XwZtY86VHWYA


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3 ± 2√2, 2 ± √3

2 ± 3√2, 2 ± √3

3 ± 2√2, 3 ± √2

2 ± 3√2, 3 ± √2

71. The roots of  are

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

x4 − 12x3 + 34x2 − 12x + 1 = 0

2 ± √3, 3 ± 2√2

2 ± √3, 4 ± √15

−1, − 2, − ,
1

2

√3 ± √5

2

2, , 3,
1

2

1

3

https://dl.doubtnut.com/l/_XwZtY86VHWYA
https://dl.doubtnut.com/l/_iP1CBPcawQQZ


72. The roots of  are

A. 2, 1/2, 3, 1/3

B. 

C. 2, -1/2, -3, 1/3

D. 

Answer: 2

Watch Video Solution

6x4 − 5x3 − 38x2 − 5x + 6 = 0

−2, − 1/2, 3, 1/3

−2, 1/2, − 3, 1/3

73. The roots of  are

A. 

B. 

C. 

2x5 + x4 − 12x3 − 12x2 + x + 2 = 0

2 ± √3, 3 ± 2√2

±1, 2, ,
1

2

5 ± √11i

6

−1, − 2, − ,
1

2

3 ± √5

2

https://dl.doubtnut.com/l/_iP1CBPcawQQZ
https://dl.doubtnut.com/l/_8lpm5lSRuAkE
https://dl.doubtnut.com/l/_jG3oZfBwSYIj


D. 

Answer: 3

Watch Video Solution

2, , 3,
1

2

1

3

74. solve 

A. 

B. 

C. 1, -1, -2, -

D. 2, 

Answer: 2

Watch Video Solution

x5 − 5x4 + 9x3 − 9x2 + 5x − 1 = 0

1, 1, − 2, −
1

2

1, ,
1 ± √3i

2

3 ± √5

2

, 3,
1

2

1

3

, 3,
1

2

1

3

https://dl.doubtnut.com/l/_jG3oZfBwSYIj
https://dl.doubtnut.com/l/_GDEwpXB0iQd8


75. The equation whose roots are reciprocals of the roots of

 + 25x - 6 = 0 ` is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

6x6 − 25x5 + 31x4 − 31x2

2 ± √3, 3 ± 2√2

±1, 2, ,
1

2

5 ± √11i

6

−1, − 2, − ,
1

2

√3 ± √5

2

2, , 3,
1

2

1

3

76. The equation whose roots are reciprocals of the roots of

 + 25x - 6 = 0 ` is

A. 

B. 

C. 1, -1, -2, -

6x6 − 25x5 + 31x4 − 31x2

1, 1, − 2, −
1

2

1, ,
1 ± √3i

2

3 ± √5

2

, 3,
1

2

1

3

https://dl.doubtnut.com/l/_ADMVEcgXTznu
https://dl.doubtnut.com/l/_j7Hmyv8GZmoF


Exercise 2 Special Type Questions Set 1

D. 2, 

Answer: 3

Watch Video Solution

, 3,
1

2

1

3

1. The equation whose roots are - 2, 3  is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 3

Watch Video Solution

±√5

https://dl.doubtnut.com/l/_j7Hmyv8GZmoF
https://dl.doubtnut.com/l/_GxBVml8Tq3kf
https://dl.doubtnut.com/l/_GHJtUpjmZeE3


2. I: The roots of  are 1, 2, -6.  

II: The roots of 0 are1, 1/3, 1/5 .

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 2

Watch Video Solution

4x3 + 20x2 − 23x + 6 = 0

15x3 − 23x2 + 9x − 1 =

3. I: The condition that the roots of  are such that

the sum of two of the roots is 0 is pq = r . 

II: The condition that  may have a pair of

equal roots is e.

A. only I is true

B. only II is true

x3 − px2 + qx − r = 0

ax4 + bx3 + cx2 + dx + e = 0

ad2 = b2

https://dl.doubtnut.com/l/_GHJtUpjmZeE3
https://dl.doubtnut.com/l/_3fPPfZJVd55F


C. both I and II are true

D. neither I nor II true

Answer: 3

View Text Solution

4. I: The equation whose roots are the squares of the roots of

 is   

II: The equation whose roots are the cubes of the roots of

 is  .

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 2

Vi T t S l ti

x3 − x2 + 8x − 6 = 0 x3 + 15x2 + 52x + 36 = 0.

x3 + 3x2 + 2 = 0 x3 + 33x2 + 12x + 8 = 0

https://dl.doubtnut.com/l/_3fPPfZJVd55F
https://dl.doubtnut.com/l/_5IbryYmWXRtv


Set 2

View Text Solution

5. I: The equation obtained by removing second term from

 is  .  

II: The equation whose roots are exceed by 2 than those of

 is 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: 3

View Text Solution

x4 + 8x3 + x − 5 = 0 x4 − 24x2 + 65x − 55 = 0

x3 − 2x2 + 3x − 1 = 0 x3 − 8x2 + 23x − 23 = 0.

https://dl.doubtnut.com/l/_5IbryYmWXRtv
https://dl.doubtnut.com/l/_q3JlZV0gt2ug


1. If A, B, C are the remainders of

when divided by x + 1, x + 2, x - 2 respectively then the ascending order of

A, B ,C is

A. A, B, C

B. B, C,A

C. A, C, B

D. B, A, C

Answer: 3

Watch Video Solution

x3 − 3x2 − x + 5, 3x4 − x3 + 2x2 − 2x − 4, 2x5 − 3x4 + 5x3 − 7x2 + 3x

2. If 1, -1, 3 are the roots of  then the ascending

order of A, B, C is

A. A, B, C

x3 + Ax2 + Bx + C = 0

https://dl.doubtnut.com/l/_0EBbLG3Tt4Dn
https://dl.doubtnut.com/l/_XrNTF6GCYqhZ


B. B, C,A

C. A, C, B

D. B, A, C

Answer: 1

Watch Video Solution

3. If  are the roots of  and A = 

 then the dscending order of A, B, C is

A. A, B, C

B. B, C,A

C. A, C, B

D. B, A, C

Answer: 4

Watch Video Solution

α, β, γ x3 − x2 + 33x + 5 = 0

s1, B = s2, C = s3

https://dl.doubtnut.com/l/_XrNTF6GCYqhZ
https://dl.doubtnut.com/l/_C6ImXLMflLhc


Set 3

4. If  are the roots of the equation  and if

a = , b =  and c =

then the correct inequality among the following is :

A. 

B. b 

C. 

D. 

Answer: 2

Watch Video Solution

α, β, γ x3 − 6x2 + 11x − 6 = 0

α2 + β2 + γ2 αβ + βγ + γα (α + β)(β + γ)(γ + α),

a < b < c

< a < c

b < c < a

c < a < b

1. Match the following. 

Equation" Roobts 

https://dl.doubtnut.com/l/_C6ImXLMflLhc
https://dl.doubtnut.com/l/_N3qI3QwuTdJJ
https://dl.doubtnut.com/l/_Z17pBKh1eHc8


I a) 6, 4, -1 

II. (b)1, 1/3, 1/5  

III. (c ) 1, 2, 4  

IV (d)4, -4, 3

A. c, d, a, b

B. d, c, b, a,

C. c, a , b, d

D. c, b, a, d

Answer: 2

View Text Solution

x3 − 3x2 − 16x + 48 = 0                     

x3 − 7x2 + 14x − 8 = 0                     

15x3 − 23x2 − 9x − 1 = 0                     

x3 − 9x2 + 14x + 24 = 0                     

2. Match the following. 

Roots of the equation  Equation  

i.   

ii.  

                       

2, 3, 6                      x3 − 3x2 − x + 3 = 0

−2, 3, ± √5                     x3 − 11x2 + 36x − 36 = 0

https://dl.doubtnut.com/l/_Z17pBKh1eHc8
https://dl.doubtnut.com/l/_dGoEPlxXr9Qb


iii. 1, 3   

iv 1,-1,3  

A. c, d, a, b

B. b,c,d,a

C. c, a , b, d

D. c, b, a, d

Answer: 2

View Text Solution

±2i                     x3 − 4x2 − 8x + 8 = 0

                    x3 − 7x2 + 19x − 13 = 0

3.  are the roots of the equation . Match

the following and choose the correct answer.

i. (a) - 43/4 

ii. (b) - 7/8  

iii.  (c ) 86  

iv.  (d) 10  

(e )10

α, β, γ x3 − 10x2 + 7x + 8 = 0

α + β + γ                    

α2 + β2 + γ2               

+ +              
1

α

1

β

1

γ

+ +         
α

βγ

β

γα

γ

αβ

                                        

https://dl.doubtnut.com/l/_dGoEPlxXr9Qb
https://dl.doubtnut.com/l/_OyHGsCEV95Ak


A. `e,c,a,b

B. d, c, b, a,

C. e,c,b,a

D. e,b,c,a

Answer: 3

Watch Video Solution

4. If  are the roots of  then match the

following. 

  

ii.   

iii.   

iv.

A. c, d, a, b

B. d, c, b, a,

α, β, γ x3 − px2 + qx − r = 0

+ +                          (a)
1

α

1

β

1

γ

p2 − 2q

r2

+ + =           (b)
1

αβ

1

βγ

1

γα

q2 − 2pr

r2

+ + =                     (c)
1

a2

1

β2

1

γ2

p

r

+ + =               (d)
1

α2β2

1

β2γ2

1

γ2α2

q

r

https://dl.doubtnut.com/l/_OyHGsCEV95Ak
https://dl.doubtnut.com/l/_z4AWIqaF4muQ


C. c, a , b, d

D. c, b, a, d

Answer: 2

Watch Video Solution

5. Match the following 

i. The equation whose roots are multiplied by 3 of (a)

  

those of  is  

ii.The equation whose roots are exceed by 1 than (b) 

  

those of  is  

iii. The equation whose roots are diminish by 1 than  (c )

  

those of  is  

iv. The equation whose roots are the reciprocals of the (d)

                 

x3 − 8x2 + 19x − 15 = 0

x3 + 2x2 − 4x + 1 = 0

                 

x3 + 5x2 + 10x + 10 = 0

x3 − 5x2 + 6x − 3 = 0

                 

4x4 − 2x3 + 6x2 − 3x − 1 = 0

x3 + 2x2 + 3x + 4 = 0

                 

https://dl.doubtnut.com/l/_z4AWIqaF4muQ
https://dl.doubtnut.com/l/_1cmNv2XA1TD7


Set 4

  

roots of  is

A. c, d, a, b

B. d, c, b, a,

C. c, a , b, d

D. c, b, a, d

Answer: 2

View Text Solution

x3 + 6x2 − 36x + 27 = 0

x4 + 3x3 − 6x2 + 2x − 4 = 0

1. A : the equation whose roots are multiplied by 2 of those of

 is 

.  

R: the equation whose roots are multiplied by k of those of f(x) = 0 is

f(x/k) = 0.

x5 − 2x4 + 3x3 − 2x2 + 4x + 3 = 0

x5 − 4x4 + 12x3 − 16x2 + 64x + 96 = 0

https://dl.doubtnut.com/l/_1cmNv2XA1TD7
https://dl.doubtnut.com/l/_pr5WBo14H4JA


A. both A and R true and R is the correct explanation of A

B. both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 1

Watch Video Solution

2. A: The equation whose roots are the reciprocals of the roots of

 is .  

R: the equation whose roots are the reciprocals of those of f(x) = 0 is

f(1/x) = 0.

A. both A and R true and R is the correct explanation of A

B. both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

2x3 + 7x2 − 6x + 1 = 0 x3 − 6x2 + 7x + 2 = 0

https://dl.doubtnut.com/l/_pr5WBo14H4JA
https://dl.doubtnut.com/l/_bCRaAP8nmGJS


Answer: 1

Watch Video Solution

3. A : the equation whose roots are exceed by 2 than those of

 is   

R : the equation whose roots are exceed by h than those of f(x) = 0 is f(x -

h)= 0.

A. both A and R true and R is the correct explanation of A

B. both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 1

Watch Video Solution

2x3 + 3x2 − 4x + 5 = 0 2x3 − 9x2 + 8x + 9 = 0

https://dl.doubtnut.com/l/_bCRaAP8nmGJS
https://dl.doubtnut.com/l/_MVL4TYD1C9se


4. Assertion (A ) : The equation whose roots are the squeares of the roots

of  is   

Reason (R ) : the equation whose roots are the squares of the roots of f (x

) =0 is obtained by eliminating squares root from 

A. both A and R true and R is the correct explanation of A

B. both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: 1

Watch Video Solution

x4 + x3 + 2x2 + x + 1 = 0 x4 + 3x3 + 4x2 + 3x + 1 = 0

f(√x) = 0

https://dl.doubtnut.com/l/_P6W3ikG8cEBo

